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UGC NET PAPER 2 NOVEMBER 20, 2021 SHIFT 2 MASS COMMUNICATION AND JOURNALISM QUESTION PAPER

Topic:- 63MassComJourn_A
1) A transmitter encodes messages into
(1) Artifacts (2) Noise

(3) Models (4) Signals
Ui (grfie) wem @ Hefofiaa o feag i 2

(1) sl (2 ¥R
(3)  wiawg (4) Hha®

[Question ID = 2939][Question Description = Q01_MassComJourn_SHAAN_20NOV21_51_5hift2]
1. 1 [Option ID = 11219]
2. 2 [Option ID = 11220
3. 3 [Option ID = 11221]
4. 4 [Option ID = 11222]

2) The media sufficiency standards were first formulated by
(1) UNDP (2) UNICEF

(3) UNESCO (4) UNHRC

e qaiaan gHes =1 wavey fead Faifa e e

1) 3w 9 (UNDP) (2) 3FE% (UNICEF)
(3 I (UNESCO) (4 I w= I H (UNHRO)

[Question ID = 2940][Question Description = Q02_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1 [Option ID = 11223]
2. 2 [Option ID = 11224]
3. 3 [Option ID = 11225]
4. 4 [Option ID = 11226]

3) The curricular model for mass media education by Sirkka Minkkienen was based on research in
(1) Sociology and Psychology (2) Political Science and Economics

(3) History and Philesophy (4) Public Administration and Geography

ol fifimm = T -gan meay Ben & fom yeweyers yiieg fe fawdi § My o snarf@ o7

(1)  [OeERE 3 wfemm 2y usrHtfreE 3R s
3) 3w i g (4) < I 3R P

[Question ID = 2941][Question Description = Q03_MassComJourn_SHAAN_20NOV21_51_5hift2]
1. 1 [Option ID = 11227]
2. 2 [Option ID = 11228
3. 3 [Optien ID = 11229]
4. 4 [Option ID = 11230]

4) The concept of mean world syndrome is seen in

(1) Spiral of silence (2) Cultivation analysis

(3) Helical theory (4) Transactional analysis
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[Question ID = 2942][Question Description = Q04_MassComJourn_SHAAN_20NOV21_51_5hift2]
. 1 [Option 1D = 11231]

1

2. 2 [Option ID = 11232]
3. 3 [Option ID = 11233]
4. 4 [Option ID = 11234]

5) Paulo Friere described the top-down modernisation project as
(1) Existentialism (2) Assistentialism

(3) Universalism (4) Institutionalism

i@ e A e snyfea ol % fea w1 ave e

(1)  fssar (ofsdfmafbas) (2) wRrEdER ()
(3) HEWMHER (JHEEHA) 4 TwmER (SepRias)

[Question ID = 2943][Question Description = Q05_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11235]

2. 2 [Option ID = 11236]
3. 3 [Option ID = 11237]
4. 4 [Option ID = 11238]

6) In developmental communication, ‘being diagnostic’ will lead to
(1) Diversity of identities (2) Suppression of identities

(3) Explosion of identities (4) Fusion of identities

fasmraard @=r 4 Yerts 2R 9 B0

(1)  fEma $ sHE (2) A %1 g
(3)  HHAHA &1 favnie (@) A w1 oA

[Question ID = 2944][Question Description = Q06_MassComJourn_SHAAN_20NOV21_51_5hift2]
1. 1 [Option ID = 11239]

2. 2 [Option ID = 11240]
3. 3 [Option ID = 11241]
4. 4 [Option ID = 11242]

7) When a third variable, remaining unseen causes an association of two variables, it is called :

(1) Absentee variable (2) Extraneous variable

(3) Spurious variable (4) Third order variable

T4 UF IO = 3N FACE, ¢ 9 & U T & R0 94941 2 96 gl AT

(L) Ui = @ ===

(3) =TEA W @) T E =

[Question ID = 2945][Question Description = Q07_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1 [Option ID = 11243]

2. 2 [Option ID = 11244]
3, 3 [Option ID = 11245]
4, 4 [Option ID = 11246]
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8) MNeo-Darwinian beliefs of social evolution were the basis of western theory of:
(1) Modernisation (2) Ethnic superiority

(3) De-politicisation {4) Dominance of religion

graifas wafsm & m-sifdadd favam e uivad fagm < snaw g2

(1) g @) o A
8  Ta-usHifarm (4) =i = vy

[Question ID = 2946][Question Description = Q08_MassComJourn_SHAAN_20NOV21_51_Shift2]
. 1 [Option ID = 11247]
2 [Option ID = 11248]
. 3 [Option ID = 11249]
4 [Option ID = 11250]

e it R

9) General Attributions to the sources like ‘Government official’ in news stories are referred to as:
(1) Off the record (2) Deep background

(3) Background {4) On the record

FATaw famon 3 ‘gl sitmdl’ SE Fo T Al i W 99 S B BEd 3

(1) ITTHTH (2) el gy
(3) g=gm @) TEEEE

[Question ID = 2947][Question Description = Q09_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1 [Optien ID = 11251]
2. 2 [Optien ID = 11252]
3. 3 [Optien ID = 11253]
4. 4 [Option ID = 11254]

10) Which among the following methods/models is used to make decisions related to ethical dilemmas in media?

(1) Fog index (2) Flesch method

(3) Freytag Pyramid (4) Potter box

frafeiaa A @ wR- Ry /vioss wam tdifen 4 A g @ vatua foi o & fore e s 22

(1)  IM 329 Q) T U
(3) e it @) gl |t

[Question ID = 2948][Question Description = Q10_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1 [Option ID = 11255]
2. 2 [Option ID = 11256]
3. 3 [Option ID = 11257]
4, 4 [Option ID = 11258]

11) Which among the following Journalists is associated with the developmental news portal PARI (People’s Archive of Rural
India)?

(1) Kalpana Sharma (2) Gail Omvedt

(3) Ravish Kumar (4) P. Sainath

frafafiga 3 8 SF-w vspr s aumn 95 Tl (figen swize A% e e ¥ wafig 27
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[Question ID = 2949][Question Description = Q11_MassComJourn_SHAAN_20NOV21_51_Shift2]
. 1 [Option ID = 11259]
. 2 [Option ID = 11260]
. 3 [Option ID = 11261]
4 [Option ID = 11262]

oL B

12) is a paragraph that explains the point of the story when the lead is purposely vague.

(1) Circle Kicker (2) Nut graph

(3) Teaser Lead (4) Mystery lead

98 FTSE 2 O HAER i gEH 96 Sd1a1 8 A9 $AHE (S1g)  AH-gHE HIR 1@

T 2
1) b e @) T IE
(3) IYparhHl HAME (R #ig) @) w3 syya (fred «ie)

[Question ID = 2950][Question Description = Q12_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Option ID = 11263]
2. 2 [Option ID = 11264
3. 3 [Option ID = 11265]
4. 4 [Option ID = 11266]

13) The theory of cognitive dissonance as related to advertising is based on the premise that:
(1) People see what they expect to see (2) People see what they are offered to see

(3) People see what they are made to see (4) People see what they don’t get to see

famme @ gefiE aamres favarfear =1 fuzgm wa fa=m v sneanfia 2 6 .

(1) <M I8 <Ed 2 S 9 T s w8
(2) ©M 98 <ER 3 S I <EH i e 2
(3) I 98 Ed & I I fgEmE Fa 2
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[Question ID = 2951][Question Description = Q13_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1 [Option ID = 11267]
2. 2 [Option ID = 11268]
3. 3 [Option ID = 11269]
4. 4 [Option ID = 11270]

14) In outdoor advertising the term OTS (Opportunity To See} and OTR (Opportunity To Read) are referred to as:

(1) Wall painting (2) Posters

(3) Hoardings (4) Balloons

g fommom A o7 4w (SEA T sTam) Sfit a1 F1 TR (TgH W STRR) UG i FEl Sl R

(1) TR (2) TR
(3 e @) TR

[Question ID = 2952][Question Description = Q14_MassComJourn_SHAAN_20NOV21_51_Shift2]
. 1 [Option ID = 11271]
2 [Option ID = 11272]
3 [Option ID = 11273]
4 [Option ID = 11274]

bl D —

15) The single sheet advertisement printed on one side is known as:
(1) Brochures (2) Leaflets

(3) Posters (4) Flyers
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[Question ID = 2953][Question Description = Q15_MassComJourn_SHAAN_20NOV21_51_Shift2]

1. 1 [Option ID = 11275]
2. 2 [Option ID = 11276]
3. 3 [Option ID = 11277]
4. 4 [Option ID = 11278]

16) A sceptical buyer is the one who

(1) makes impulsive purchase (2) has negative image about the seller

(3) carefully weighs the cost, pros and cons of the product being offered (4) is keen to return the product

HIETE i 98 B 9

(1)  Eh g w2

@ o & favw § s gron wEe 2

@) res 9@ 3ee % gen @ su-gi &1 waurEigds der 8
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[Question ID = 2954][Question Description = Q16_MassComJourn_SHAAN_20NOV21_51_Shift2]

. 1 [Option ID = 11279]
2 [Option ID = 11280]
. 3 [Option ID = 11281]
4 [Option 1D = 11282]

e it B

17) A commonly used and immensly valuable technique for analysing the external environment of an organization is

(1) SWOT Analysis (2) PEST Analysis

(3) MOST Analysis (4) PESTLE Analysis

e wea & wg aiEs w1 favdivo FE % fe ames: wEm 6 S el agd @ 3wt g @

(1) SWOT fagey (2) PEST Tavemu

() MOST favetsn (4) PESTLE favergo

[Question ID = 2955][Question Description = Q17_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1. 1 [Option ID = 11283]
2. 2 [Option ID = 11284]
3. 3 [Option ID = 11285]
4. 4 [Option ID = 11286]

18) Who wrote the book about PR titled ‘Crystallizing public opinion’?
(1) Edward Bernays (2) lvy Ledbetter Lee

(3) J.P. Morgan (4) George Creel

SH HuE § walua g < Treaniim e anfufeae’ fee foreh 27

1  veEd S (@) e S &
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[Question ID = 2956][Question Description = Q18_MassComJourn_SHAAN_20NOV21_51_Shift2]

1. 1 [Option ID = 11287]
2. 2 [Option ID = 11288
3, 3 [Option ID = 11289]
4, 4 [Option ID = 11290]
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19) The main chjective of PR Audit is to assess
(1) The strengths and weakness of PR in an organization. (2) The negative image of an organization.

(3) The relationship between an organization and its key publics. (4) The internal relationship of employees in an
organization.

S U9k YeaeA 1 ged Jevd fea fauifta e 2y

(1) el wvra U 9 Ao I oo 3 Eeid
@ T WA i A ol

(3)  Torell Tmaa 3R Tl @nN % S w0 5Ey
(4)  Torelt e & wuaiEl w1 Al d9d

[Question ID = 2957][Question Description = Q19_MassComJourn_SHAAN_20NOV21_51_Shift2]
. 1 [Option ID = 11291]
. 2 [Option ID = 11292]
. 3 [Option ID = 11293]
4 [Option ID = 11294]

oWk b2 o

20) When the media reflect stories on issues relevant to the company under PR coverage, it is often referred to as
(1) Third - party endorsement (2) First - party endorsement

(3) Second - party endorsement (4) Fourth - party endorsement

T4 IF HIF FeT $ it Hifew frdlt el | wEiva mgegl Al W SR W) S S 2, 9@

3@[ - 3@% g g
(1)  gdE-ug wmee (2) SuY-9% HEeH
3 feda-va wem @ FFd-va TuedA

[Question ID = 2958][Question Description = Q20_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1 [Option ID = 11295]
2. 2 [Option ID = 11296]
3. 3 [Option ID = 11297]
4. 4 [Option ID = 11298)

21) The Sixteenth amendment to the Indian Constitution added a restriction on Article 19 in the form of
(1) Judicial review (2} Censorship of media contents

(3) Limiting entry of media persons into public buildings (4) Sovereignty and integrity of India
g1ty wfagm & diegd iya O diaam % sgeae 19 9 frafafiaa sfvay s weanfe fe mn .

(1)  =IRrs wiE

@ e A sl i Fmie

(3 O el Hifen i % v@w w e w5
(4)  ura F TgE 3 e

[Question ID = 2959][Question Description = Q21_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1 [Optien ID = 11299]
2. 2 [Optien ID = 11300]
3. 3 [Option ID = 11301]
4. 4 [Option ID = 11302]

22) In Virendra Vs, State of Punjab, Section (3)(1) of the Punjab Special Powers (Press) Act, 1956, was struck down on the
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grounds of
(1) Procedural unreasonableness (2} Public interest

(3) Over - regulation (4) Political ill - will

di= s9m doE U= 9R U, 9o ey wfsai om) afufem, 1956 Foawn (3)(1) = Fafafea
e W e &

(1)  IERIIeTH qehTadl &1 31 (2) wstes faa
(8)  sfa-Rfmm @ THifas guta

[Question ID = 2960][Question Description = Q22_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1

[Option 1D = 11303)
2. 2

[Option ID = 11304]
3.3

[Option ID = 11305]
4, 4

[Option ID = 11306]
23) Section 292 of the Indian Penal Code prescribes punishment for
(1) Copyright infringement (2) Obscence publication

(3) Contempt of Court (4) Prejudicing national integration through media

e evg "fgar 61 g 292 # f=fafaa o fav <oz %0 3usa 2 .

(1)  wfaferenitsr sifaeem

(2) HIATA FHTH

(3) =TT bl JEHHAT

(4  Hifem & mem ¥ UE F@Ed W 9GS Y9G SEE

[Question ID = 2961][Question Description = Q23_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1

[Option ID = 11307]
Ll

[Option ID = 11308]
3.3

[Option 1D = 11309]
4. 4

[Option ID = 11310]
24) Copyright is considered as
(1) Public property (2) Industrial property

(3) Non-substantial property (4) Mon-intellectual property

ylaferentiemr o[ s 2
(1) =i gafd (2) st qef
(3)  -usreie Hufg (4) T-sitfgs "ua

[Question ID = 2962][Question Description = Q24_MassComJourn_SHAAN_20NOV21_51_Shift2]
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[Option ID = 11311]
7.2

[Option ID = 11312]
3.3

[Option ID = 11313]
4. 4

[Option ID = 11314]
25) In media management, the term ‘Performance’ means
(1) Economic performance only (2) Social responsibility only

(3) Both economic and social (4) Administrative flow only

Hifem wag 0 “wrifyemed’ 1e @ sifina 2
(1)  Fae anfis wEfeea (2) g wEIF i
(3 e 3k e gHi @) Faa yerafis yar

[Question ID = 2963][Question Description = Q25_MassComJourn_SHAAN_20NOV21_51_Shift2]
1 [Option ID = 11315]
2 [Option ID = 11316]
. 3 [Option ID = 11317]
4 [Option ID = 11318]

e B

26) Lower level media management is also known as
(1) Staff management (2) Branch management

(3) Motivational management (4) Operative level management

= g fifga vaa 51 P o & od 2
(1) WIS =y (2) W yEy
8  sfiSoregs wEy (4) WHATEHE 6y

[Question ID = 2964][Question Description = Q26_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11319]
2. 2

[Option ID = 11320]
i3

[Option ID = 11321]
4, 4
[Option ID = 11322]
27) The main aim of professional sub-culture in media management is to

(1) Unite individuals (2) Create divided groups

(3) Influence workers to be isolated (4) Produce dissimilarities in work culture

fifea weig § e Iu-wwpla 31 7E 5w 2
(1) STl 1 Wb g 4 e (2) fawifsa aggi = fafo
(3)  FHBAI I Yy BH & fog watfem e (@) e -wepfa o fawman 3@S w5

[Question ID = 2965][Question Description = Q27_MassComJourn_SHAAN_20NOV21_51_Shift2]
14

[Option ID = 11323]
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[Option ID = 11324]
3.3

[Option ID = 11325]
4, 4

[Option ID = 11326]
28) Adobe Indesign is used in
(1) Radio documentaries (2) Television drama production

(3) Blogs on Internet (4) Newspaper

e 39-feonea frmifeea B e 2 2

Q) e gutm @) elifaem e v
(8) 3R 9T M S (4) THNRYE

[Question ID = 2966][Question Description = Q28 _MassComJourn_SHAAN_20NOV21_51_Shift2]
1.1

[Option ID = 11327]
2,2

[Option ID = 11328]
3.3

[Option ID = 11329]
4. 4

[Option ID = 11330]

29) Which among the following communicologists usefully distinguished between the paradigms of interaction, which was
called the ‘extractive’ and the ‘immersive’?

(1) Alan Turing (2) Peter Lunenfield

(3) Rosanne Allucquere (4) P. Hayward

frafafga © o frw gunrfae 3 s Srarerss € saaioEl § fase fem o (52 Tssmamens” 3ik

“ﬁqm” ;q"_’_‘[ H.iﬂ.(ﬂ, Irg?

(1) @) TR gAfeeE
(3) UM UeeEErr @ 9. zaE

[Question ID = 2967][Question Description = Q29_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1

[Option ID = 11331]
2. 2

[Option ID = 11332]
3.3

[Option ID = 11333]
4. 4

[Option ID = 11334]

30) Photorealism in CGl and the hyperrealist imagery and narrative structures of Disney, Pixar and Dream works animated
features are all examples of what Jean - Louis Comdli calls

(1) reality effects (2) distancing effect

(3) anti - reality (4) indexicality
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1 ST Az H BEIRAIAH AR 259 HAAR HHTD AR Tl MR HL g 99 U[HHIs %BIEH <6l
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(3) UA-fEfad (e U @) oA (arwufER )

[Question ID = 2968][Question Description = Q30_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1 [Option ID = 11335]
2. 2 [Optien ID = 11336]
3. 3 [Option ID = 11337]
4. 4 [Option ID = 11338]

31) Cloud computing is a system delivering different types of services over
(1) The internet {2) The Non - commercial space

(3) ldentified networks of telephone (4) Public corporation’s non-cyber platforms

Fensg Hgfen Frafafaad 8 feas ffim fafvm wor 6t g ygreft 6 yoreh 27

1) 3&ER

@  M-aiofee wEeE

(3)  fBH & T eh

@ w3 IR-AEeR wien

[Question ID = 2969][Question Description = Q31_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1

[Option ID = 11339]
2, 2

[Option ID = 11340]
3.3

[Option ID = 11341]
4, 4
[Option ID = 11342]
32) Which one of the following leads in the percentage of population on social media, as per FICCI report 20207

(1) People’s Republic of China (2) The United States

(3) The United Kingdom (4) India

fpaehl (FICCD) 1 ad 2020 <t o % sgar fFefafaa § @ e <u 6 smEndt &1 wifves gida

"o ifgar 4 g1 27
(1) =N SR TR (2) YA Y
(3)  Frzee fHen 4)

[Question ID = 2970][Question Description = Q32_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1

[Option ID = 11343]
2. 2

[Option ID = 11344]
3 3

[Option ID = 11345]
4. 4
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[Option ID = 11346]
33) The Technique where brief fragments of shots are cut to exact rhythm against a musical beat or sound is
(1) cold cuts (2) flash cutting

(3) jump cutting (4) pop cutting

foreht wrftam sfie a1 i oo frem & fon ol =t SR -2 gael 1 %A I awiE 27

(1) e HA @ wm Hn
(3) I HiN (4) Uig Hi

[Question ID = 2971][Question Description = Q33_MassComJourn_SHAAN_20NOV21_51_Shift2]
11

[Option ID = 11347]
2. 2

[Option ID = 11348)]
e

[Option ID = 11349]
4, 4

[Option ID = 11350]
34) Who authored the seminal work “The Photoplay” A Psychological study (1916)?
(1) Yachel Lindsay (2) Siegfried Kracauer

(3) Hugo Munsterberg (4) Rudolf Arnheim

frafafiaa 1 @ #F fomes Ffa I P’ @ aEEitaed 19, (1916) % 9@® 37

(1) v fasd 2) TwEe Hba
(3) T vy (@) FLeH sHfzm

[Question ID = 2972][Question Description = Q34_MassComJourn_SHAAN_20NOV21_51_Shift2]
. 1 [Option ID = 11351]
2 [Option ID = 11352]
. 3 [Option ID = 11353]
. 4 [Option ID = 11354]

e bt B
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35) Which among the following film critics developed connection between mise - en - scene and realism on the one hand,

and montage and expressionism on the other?
(1) Andrei Bazin (2) Julia Kristeva

(3) Christian Metz (4) Susan Sontag

Frfafea 1 3 fra Then e 3 991 @ AR fe-w-fr 98 gul o wivatm (diae) s
Hfveafaaare & ver gay yfaurfea fma?

(1) 3 9l (2) Sferan fsreea
3  Torfvem Aew @ &R ERA

[Question ID = 2973][Question Description = Q35_MassComJourn_SHAAN_20NOV21_51_Shift2]
|

[Option ID = 11355]
2.2
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[Option 1D = 11356]
£

[Option ID = 11357]
4, 4

[Option ID = 11358]
36) The camera technique of directing the viewer to shift attention from one subject to another is called

(1) Manuel focus (2) Follow focus

(3) Deep focus (4) Rack focus

U Sfad 4 gal sHfd & 3R oofe %1 ERa wE 1 $wa TS B3 Fy @ e

(1) 3N e (2) I BIHH
(3) o9 wrHd @ T wEy
[Question ID = 2974][Question Description = Q36_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1 [Option ID = 11359]
2. 2 [Option ID = 11360]
3, 3 [Option ID = 11361]
4. 4 [Option ID = 11362)
37) Applied research aims at

(1) Constructing a theory

(2) Finding out a variable

(3) Solving a specific problem

(4) Testing a null hypothesis mathematically

SRS MY Pl T 35T B ¢

(1) Tgu@ Fmm (2) T @ FHE

(3) fofi Tafrse woem =1 woam s (4) "I 9 I IS gde

[Question ID = 2975][Question Description = Q37_MassComJourn_SHAAN_20NOV21_51_5hift2]
1. 1

[Option ID = 11363]
2.3

[Option ID = 11364]
LN

[Option ID = 11365]
4, 4

[Option ID = 11366]

38) Longer period of exposure to an experimental stimulus minimises
(1) The simulatory effect {2) The sleeper effect

(3) The replicatory effect {(4) The selectivity effect

ferelt wrnfies 3fass & udfiu stftes T 9% 89 & weraey fefafiga o 3 fram <) an 2

(1)  IETs y9E (2) I g9E
(3  IrFHEE gvE (4d) TS YIS

[Question ID = 2976][Question Description = Q38_MassComJourn_SHAAN_20NOV21_51_Shift2]
g st

[Option ID = 11367]
7.2

[Option ID = 11368]
3. 3

[Option ID = 11369]
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[Option ID = 11370]

39) The area in which the null hypothesis is not accepted is known as

(1) The region of exclusion
(2) The region of seclusion
(3) The region of isolation
(4) The region of rejection

e & 0 v diteeu &) ier ad e sman g, I fieiferd d 9 fepuehl wan § Wl 27

(1)  afEwH gem
(2) U e
(3 Taemm wem

@ Rk g

[Question ID = 2977][Question Description = Q39_MassComJourn_SHAAN_20NOV21_51_Shift2]

1.1

[Option ID = 11371]
2. 2

[Option ID = 11372]
S

[Option ID = 11373]
4. 4

[Option ID = 11374]

40) Summative evaluation deals with
(N Ability assessment (2) Process evaluation

(3) Implementation (4) Impact

FATRAATHF YodTe A-taiga o 70 @ defem 37

(1) 2= goar (2)  lsRAT-TEATRA

I

(3)  FHAFEE (4)y T9E

[Question ID = 2978][Question Description = Q40_MassComJourn_SHAAN_20NOV21_51_Shift2]

1.1

[Option ID = 11375]
3.7

[Option ID = 11376]
3.3

[Option ID = 11377]
4, 4

[Option ID = 11378]

41) The Buddhist approach to communication emphasises:
(A) Aggressiveness

(B) Competitiveness

(C) Co-operation

(D) Non-violence

(E) Mindfulness

Choose the correct answer from the options given below :
(1) (A), (B), (C) only

(2) (B}, (C), (D) only
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- (3) (C), (D), (E) only
(4) (A), (D), (E) only

HaR < g g gesiv Hefafaa 9t aa @ @

(A) HlhMehdl

B  vfaeagieosa

(C) @M

D) wfiE

(E) &=ad

12 feu o fawredi § 8 a9t 3R @1 9 Fifa

1) wE (A), ®), (O
@ %9 (B), (0), (D)
® %9 (C), (D), ()
@ %= @A), D). ®)

[Question ID = 2979][Question Description = Q41_MassComJourn_SHAAN_20NOV21_51_Shift2]
1.1

[Option ID = 11379]
2. 2

[Option ID = 11380]
3.3

[Option ID = 11381]
4. 4

[Option ID = 11382]

42) The social responsibility theory of mass communication includes:

(A) Balanced opinion

(B) Imposing self - regulation
(C) Strict government control
(D) Reflection of public opinion
(E) Suppression of dissent

Choose the correct answer from the options given below :
(1) (A), (B), (C) only
(2) (B}, (C), (D} only
(3) (€), (D), (E) only
(4) (A}, (B), (D} only

e o wrfas Iavgifyca fagm O wftferd 2 -
(&) e i

B @-faHTR w1 sy

(C) SR WG o

D) v % gfafaeE

E g % g

Ao fen o foamedi § @ v 39t &1 w3A Fifsa .
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M
2
(3)
(4

[Question ID = 2980][Question Description = Q42_MassComJourn_SHAAN_20NOV21_51_Shift2]

ti:

e (A), B). (O
*ael (B), (C). (D)
%4 (C), (D). (E)
99 (A), (B), (D)

[Option ID = 11383]

2. 2

[Option ID = 11384]

3. 3

[Option ID = 11385]

4. 4

[Option ID = 11386]

43) The major recommendations of the first press commission were

(A)
(B)
(C)
(D)
(E)

Abolition of State Trading Corporation
Establishment of a Press Council

Enactment of law for working Journalists
Setting up of a body for newspaper registration

Restricting the government advertisements to electronic media

Choose the correct answer from the options given below ;

(1) (A), (B), (C) only
(2) (B}, (C), (D} only
(3) (C), (D), (E) only
(4) (A), (C), (E) only
gu| Y9 SAEA 6l wE R of
(A) TS HR T8 1 I
(B) | wiitag I w=man
(C)  aosifa wwesrd & fora faf = srfafaam
(D) HYTER 94 & Usime % fore frem o e
(B) w&r] gl i seagi-e difgan o Hifva v

#f9 feu o faeedi 4 | v IR = 39 Hifd

(1
2
(3)
@

[Question ID = 2981][Question Description = Q43_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1.1

+9d (A), B), (C)
Fad (B), (C), (D)
%ad (C), (D), (E)

%ad (A). (). (E)

[Option ID = 11387]

2.2

[Option ID = 11388)]

ik

[Option ID = 11389]

4.4
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[Option 1D = 11390]

44) According to Western Scholars of developmental communication, traditional societies are marked by

(A)
(B)
(C)
(D)
(E)

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

foreprenees TR & ufvad] &gl & SR TRafes Thr 6 fashmam 3

(A)
(B)
©
D)
(E)

Family focus
Rural setting
Customs and mores
Participation

Individuality

(A), (B), (C) only
(B, (C), (D} only
(C), (D), (E) only
(A), (D), (E) only

TRER W AFHEY
efor i
{ifq—fears
urfigrd
fgalaal

9 feu o fasedi 0 0 9 3o %1 5[ Fifsw

1
(2)
(3)
@)

[Question ID = 2982][Question Description = Q44_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1. 1

Fad (A), B). (C)
Fad (B), (C). (D)
Fad (C), (D). (B)

%ad (A), (D). (E)

[Option ID = 11391]

2. 2

[Option ID = 11392]

s

[Option ID = 11393]

4, 4

[Option 1D = 11394]

45) Which of the following criticisms were accepted by the advocates of dominant paradigm?

(A)
(B)
(€)
(D)
(E)

Choose the correct answer from the options given below :

(1)
(2)
(3)

Individuals as the locus of change
Social regularity

lgnoring culural specificity
Rejection of empiricism

Over - emphasis on the role of media

(A), (B), (C) only

(B), (C), (D) only
(C), (D), (E) only
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(4)

TYrg B (SEE) F R g FetetE 5§ RA-H SuereEn, iR g 7

(A}, (C), (E) only

(&)  UiERA % WgUY ® ¥ 0 SEGaa w g
(B) WM FAMaa

(C)  TTepies fatrea W em T g

(D) YA B THEA

(E)  ifemn i g ® saraEa ¥ w1 g
/1 fou o fRepedl § ¥ wE1 S W =9 Fi
1) %= (&), B). (C)

@ e (B). (O, (D)

(3 A (C), D). (B)

@ FFa (A). (C). (B)

[Question ID = 2983][Question Description = Q45_MassComJourn_SHAAN_20NOV21_51_Shift2]

ti:

[Option ID = 11395]

2. 2

[Option ID = 11396]

S

[Option ID = 11397]

4. 4

[Option ID = 11398)]

46) The major guidelines for the coverage of crime news are

(A) Checking the source

(B) Cultivation of news source

(C) Exaggeration of fatalities

(D) Taking law and order agencies into confidence

(E) Conducting parallel investigation to police enquiry

Choose the correct answer from the options given below :

(1) (A),

(3) (C),

(B), (D) only (2} (B), (C}, (D) only

(D), (E) only (4) (A}, (C), (E) only

LY AR % FHEYA o fore ged fean-fags ¢ -

(4)
(B)
(©)
D

(E)

Hid =l F1= AT

GHTER &1 Ad AR T

T Al I Al

FHA 9 e & Al # favam 8§ a0
gfera-ataeR % |gta 3= HE
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I GE Y ISsh oY H A Hal ST shl =4 hIaY

(1)
2
3
(4

[Question ID = 2984 ][Question Description = Q46_MassComJourn_SHAAN_20NOV21_51_Shift2]

e (A), B). D)
*ael (B), (C). (D)
*ad (C), (D). (E)
Ha¢ (4), (C). (B)

1. 1 [Option ID = 11399]
2. 2 [Option ID = 11400]
3. 3 [Option ID = 11401]
4. 4 [Option ID = 11402]

47) What are the new trends in the designing of newspapers?

(A) Application of traditional divisions

(B) Use of different software exclusively for designing

(C) More and more colourful pictures

(D) Adoption of total design concept

(E) Preference to bold type for text composition

Choose the correct answer from the options given below :

(1) (A), (B), (C) only (2) (B), (C), (D) only

(3) (C), (D), (E) only (4) (A}, (C), (E) only

TR v 1 feomfi o w8 ettt =0 22

(A)  gRuiE 9anT &1 9

@) fesmefin % fere fashy ww @ weme mo fafrs wivess = wE@m
© sl m-frd fa

(D) |l fom Srmuren H SR

(B) 3eR-I0A & fou e oge wt srufiesa
1= feu Tu feredl A @ wEl I F WE BT
(1) 9 Q) B). (O)

@  FFd (B). (). (D)

@  HF (O, (D). (B)

@ I (A (©). (B)

[Question ID = 2985][Question Description = Q47_MassComJourn_SHAAN_20NOV21_S51_Shift2]

P |

[Option ID = 11403]

i

[Option ID = 11404]

30

[Option ID = 11405]

4, 4

[Option ID = 11406]
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48) Which of the following are essential characteristics of a slogan?
(A) It should be brief

(B) It should be built on multiple ideas

(C) Use rhythm and rhyme

(D) It should explain the product

(E) Easy to remember

Choose the most appropriate answer from the options given below :
(1) (A}, (C}, (B) only (2) (E), (D), (B) only

(3) (C), (D), (B) only (4) (A), (C), (E) only
ffafad 1 & ®R-Ht 97 (@PR) S FAfHEE faman 82

(&) 3 glaw g =t
(B) 39 wga famrd o s g el
(C) B 3 g5 & WA §
(D) 39 Iearg I sarE S wfEu)

()  o1Q w1 3IMEH 3

el fou 1w fepeni 3 e Iugad I w1 wEA Hif
(1)  *ae (A), ©). (B)
@) ¥ (E), (D), B)
® %= (), (D). (B)

@  FEE (A), (O), (B)

[Question ID = 2986][Question Description = Q48_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1 [Option ID = 11407]
2. 2 [Optien ID = 11408]
3. 3 [Optien ID = 11409]
4. 4 [Option ID = 11410]

49) Which are the basic functions of advertising in society?
(A) Marketing function

(B} Education function

(€) Cultural function

(D) Political function

(E) Social function

Choose the correct answer from the options given below :
(1) (A), (B), (C) only (2) (B), (C), (D) only

(3) (A}, (B), (E) only (4) (D}, (E), (C) only

AT ¥ fas9a & g @ g e
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(a) Tooor sd
® foen =

(C)  wREpfew Fr
(D)  USHifas Frl

(E) wmfas

i feu e fawpedl @ 4 w8 33 =51 999 SIS

() %9 (A), B), ©)
2)  ad (B), (C). (D)
3 % (A), (B), (E)
4  %a9 (D), (). (C)

[Question ID = 2987][Question Description = Q49_MassComJourn_SHAAN_20NOV21_51_Shift2]
1 [Option ID = 11411]
2 [Option ID = 11412]
3 [Option ID = 11413]
4 [Option ID = 11414]

o R

50) Which of the following are advantages for corporate public relations practitioners?
(A) Individualistic presence

(B) Unavailable for other departments

(C) Team membership

(D) Knowledge of the organisation

(E) Economical to the organisation

Choose the correct answer from the options given below :

(1) (A), (B), (C) only (2) (B}, (C), (D) only

(3) (C), (D), (E) only (4) (A), (B}, (E) only

BN SH w9 Hf & forg Ffafiga § @ #97-8 a@ awd €7

() =AfEErR JufRfy

®  gut fav & forg siguere
(©)  &m & weE

@ w1 S v g wA

(E) e & fou fygesh

Hi= feu v faekedt § § WE T @ 1 HIRT

(1)  Ed (A). B), (O
(2) %= (B), (C), (D)
(3 %ad (C). D), (E)

@  HFd (A), B), (B)
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[Question ID = 2988][Question Description = Q50_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1

[Option ID = 11415]
2, 2

[Option ID = 11416]
3.3

[Option ID = 11417)
4, 4

[Option ID = 11418]
51) The success of public relations in any organisation depends upon
(A) Top - down communication system
(B) Commitment by management
(€) Centralised policy system
(D) Two - way communication system with different publics
(E) Keeping distance from manager
Choose the correct answer from the options given below ;
(1) (A), (B), (C) only (2) (B), (C), (D) only

(3) (C), (D), (E) only (4) (A), (B), (E) only

fepeft e 1 59 wuds & swea Fefafga w Al awdt 2

(4) A =R 93

(B  wEuA 6 yfega

(C)  hgiiga Hifa aF

D) = fafime sogl % wy farf =m |9

()  vEuwi 8 gl s W@

fro feu wu fysmedi 4 | g 3w =1 9gq Fifde .

(1) &3 (4), B), (O
(2)  FaA (B), (C), (D)
(3) 9 (C), (D), (B)

@  F9d (A), B), (B)

[Question ID = 2989][Question Description = Q51_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1 [Optien ID = 11419]
2. 2 [Optien ID = 11420]
3. 3 [Option ID = 11421]
4. 4 [Option ID = 11422]

52) The key elements in a successful annual report are
(A) Corporate profile

(B) Financial highlights

(C) Value deducted statement

(D) Corporate goals
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(E) Political climate analysis

Choose the correct answer from the options given below :

(1) (A), (B), (C) only (2) (B), (C), (D) only

(3) (A}, (B), (D) only (4) (C), (D), (E) only

foreht et anfie wfaees o meeyl o -4 27

(A)
B)
<
(D)

(E)

ERsifeaieicn

ey fofta fdrwand
e i we
FI b A
Tsfiferes it fagemm

il feu e fyeredi 0 O 9E IR w1 99 HIfa

(D
@
(3)
€Y

[Question ID = 2990][Question Description = Q52_MassComJourn_SHAAN_20NOV21_51_Shift2]

#4948 (A), B), (C)
%3 (B), (C). (D)
w97 (A), (B). (D)

Fae (C), (D). (E)

1. 1 [Option ID = 11423]
2. 2 [Option ID = 11424]
3. 3 [Option ID = 11425]
4. 4 [Option ID = 11426]

53) Which of the following are considered privileged documents by courts in India?

(A) News copy prepared by media.

(B) Annual reports of private limited companies.

(C) State secrets.

(D) Correspondence between government and its officers regarding state security.

(E) Sources of information collected and listed by government employees.

Choose the correct answer from the options given below :

(1) (A), (B), (C) only (2) (B), (C), (D) only

(3) (C), (D), (E) only (4) (A), (D), (E) only

i H el g Frafafea 4 9 eh-a feies s mm s 4

(A4)
(B)
(©)
(D)
(E)

Hifem gr dar ) 1 Furaw Hid

s I T T

R 3R 3 Al & d usy f g @ asEfEE g
el il g gefer wd gEieg g E
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4= v mu ferwei 1 @ wd W W = i

Q) FEA (A, B). (O
(2) % (B), (), (D)
3 %€ (C). (D). (B)
@  Had Q). ), B)

[Question ID = 2991][Question Description = Q53_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1 [Optien ID = 11427]
2. 2 [Option ID = 11428]
3. 3 [Option ID = 11429]
4. 4 [Option ID = 11430]

54) Who directed the film ‘Sadgati’ based on the short story by Munshi Premchand?
(1) Shyam Benegal (2) Satyajit Ray

(3) Mani Kaul (4) Govind Nihalani

g3t Ymeie Y oy Far W anwife feen wgfy fewm frem T

(1) v A9 (2) werid

(3) | @ Titee Frear
[Question ID = 2992][Question Description = Q54_MassComJourn_SHAAN_20NOV21_S1_5Shift2]
1. 1 [Option ID = 11431]
2. 2 [Option ID = 11432]
3. 3 [Option ID = 11433]
4. 4 [Option ID = 11434]
55) Which of the following lead to the contempt of parliament?
(A) Abuse not related to the duties of the member of parliament.
(B} Personal attack of a member.
(Q) Publication that affects the dignity of parliament.
(D) Publication reflecting upon the character and proceedings of parliament.
(E) Publication imputing contempt or ridicule of the house.
Choose the correct answer from the options given below :
(1) (A), (B), (C) only
(2) (B), (C), (D) only
(3) (€), (D), (E) only
(4) (A), (D), (E) only
(4) (A), (D), (E) only

frfefian 1 | fred dag i s 2t 22

(A) UG WGEA F FHeedl W STHETUR TEIAM

B® e mes o dafds e

(C)  =wg =l i1 o WrE T aTell SehieH

(D) wac F AfE 9 FEaE I FEHT B el THITH

(E) Hcd &1 JAaaHEH 91 gRAHE] YheH

#ra feo o foweqi § | HEl I W $ifsra .
(1) %9 (A), B), (O
() %99 (B), (O), (D)
(3)  wad (C), (D), (B)
@ %99 Q). D). (B)



www.prepp.in . re p p

Your Personal Exams Guide

[Question ID = 2993][Question Description = Q55_MassComJourn_SHAAN_20NOV21_51_5hift2]
1. 1

[Option ID = 11435]
Z. 2

[Option 1D = 11436]
e

[Option ID = 11437]
4, 4

[Option 1D = 11438]
56) Which among the following factors differentiate media industries from most manufacturing concerns as per Lavine and
Wackman (1988)?
(A} Perishable commodity
(B) Work specialization
(C) Lower visibility
(D} Types of employees
(E) Type of organization structure
Choose the correct answer from the options given below :
(1) (A}, (D), (E) only
(2) (A}, (B), (E) only
(3) (C), (D), (E) only
(4) (B}, (C), (E) only

Tifean Faml s sifeerar fofn seensd § 97 @ & o s o dwga (1988) A Ffafea 4 @
o1 sl h ggmm iy

(A) il 3
(B) e faRrdam
(© T g

(D)  FHINAT & THR

(E)  HT3A HEEA Sl Tl

#ra feu o fawedi 4 @ wEl IR H T Hifs -
1) A (A), D), (B)

(2 F94 A, B). B

3 % (C). D). (B)

(49  F94 B). (0). (B

[Question ID = 2994][Question Description = Q56_MassComJourn_SHAAN_20NOV21_S1_5Shift2]
1. 1

[Option ID = 11439]
7.2

[Option 1D = 11440]
3. 3

[Option ID = 11441]
4, 4

[Option ID = 11442]

57) Tom Wolfe identified which of the following devices New Journalists borrowed from literary fiction?

(A) First person point of view
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(B) Avoiding behavioural aspects

(C) Telling the story using scenes

(D) Dialogues

(E) Third - person account

Choose the correct answer from the options given below :
(1) (A}, (B), (E) only

(2) (B), (D), (E) only

(3) (A), (C), (B) only

(4) (A}, (C), (D} only

o gow A Faafafea 9 9 fee g 6 ggam A R @ifa wwrd 3 sz | fame
(A)  H-gE I

(B) ITEHIHS UGS W =

(C) ¥ =1 AN L HATER S

D) TR

E®  FAI-7E T

1= feu e ferepedl 7 4 Wl I w1 ST R
(1) % (A), B), (B
@  Fd (B, D). ®)
3  Fad A). (0. B
(4 ¥ (A), (C), D)

[Question ID = 2995][Question Description = Q5%7_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1

[Option ID = 11443]
7,2

[Option ID = 11444]
3.3

[Option ID = 11445]
4, 4

[Option ID = 11446]

58) The main uses of Internet are
(A) Ignoring files

(B) Removing virus

(C) Interactive gaming

(D) Downloading files

(E) Increased personal health
Choose the correct answer from the options given below ;
(1) (A) and (B) only

(2) (A), (B) and (C}) only

(3) (C) and (D) only

(4) (C), (D} and (E) only

TTHE F HEd T E
(A)  ETEE W TeRSTET

=4 FITerlT =JTa0



[Question ID = 2996][Question Description = Q58_MassComJourn_SHAAN_20NOV21_51_Shift2]
1

59) “Eye track” studies of Poynter Institute and Stanford University, reveal which of the following online reader

www.prepp.in

—

(®)
(D)

(E)

se-UFeg arHaATET T
FIEAT i SIS T

#fr= fu Tu foepedl 1 ¥ R SR 1 T il

(1)
(2)
(3)

(4)

1

Fad (A) 317 (B)
Fad (A), (B) # (C)
Haet (C) 3 (D)

Faa (O). (D) ¥ (E)

[Option ID = 11447]

2

[Option ID = 11448)

wd

[Option ID = 11449]

4

[Option 1D = 11450]

characteristics?

(A) People will read a story online thoruoughly if they are interested
(B) Blurbs are the most important method to attract readers,

(C) Alternate story form such as timelines, fact boxes help readers.
(D) Readers give preference to the images more than the text,

(E) Presence of fact boxes intimidates reading

Choose the most appropriate answer from the options given below :

(1)

(2) (B}, (C), (E) only

(3) (C), (D), (E) only

(4) (A), (B), (C) only

Qiet §EA 3T WA%E fauafamea & “3Egd®” Al U HaRd s $i Feafafam 1 |4 sh-H
farswand wom arg &7

(a)  =m, fordlt momem 1 sfaerga @ @i ¥ uen afy 3an sl gt

(B) =& 1 BT UISeh] Sl JTHNG H &1 Ted HEeayl il 2|

(C) -l s aon-wwa] Jef Jnfeus gwar fam ¥ gl =t waraa e 2|

(D) TSIV L ol U TS B wafrar <d Bl

(E) daw-s9di 61 ufeyfa 9 uegd ¥ W7 FE1 2)

(A}, (B), (D) only

= fou 7g fasegi § 8wt I &1 93 Sl

(L
2
(3

AN

#4e (A), (B). (D)

%ae (B), (C), (B)
®ad (C), (D), (B)

=AM (AN (RY (CH
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[Question ID = 2997][Question Description = Q59_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1

[Option ID = 11451]
2.2

[Option ID = 11452]
3.3

[Option ID = 11453]
4, 4

[Option ID = 11454]

60) Which among the following films were part of the French New Wave movement?
(A) Breathless

(B) Jules and Jim

(C) Grand lllusion

(D} Quo Vadis

(E) Hiroshima, mon amour

Choose the correct answer from the options given below ;
(1) (A), (B), (D) only

(2) (A), (B), (E) only

(3) (B), (€), (E) only

(4) (B}, (C), (D} only

Fretafiaa A @ w-d 59 =2 78 o=t oteem = fam oi?

@ s

®) FE T Gm
© s e
D) i atEg

T il A

(E)  TeUmEmI, O

=1 faw T Reredt § T wE I W = A

()  F=a (A). B). D)
(2  ad (A). B). )
(3 =@ (B), (C). (B)

4) %ad (B), (C), D)

[Question ID = 2998][Question Description = Q60_MassComJourn_SHAAN_20NOV21_51_5hift2]
1. 1

[Option ID = 11455]
2. 2

[Option ID = 11456]
.3

[Option ID = 11457]
4, 4

[Option 1D = 11458]

61) Which among the following are the best understood phases on ‘Bollywoodization’, according to Rajyadhyaksha?

(A) Cultural and economic patronage of NRI diasporic communities.
(B) Influence of Hollywood cinematic techniques on Indian Cinema,
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(Q) Marketing of Bollywood abroad.
(D) Transformation of the domestic film industry shaped by the ambilion of people abroad.
(E) Endorsement of the anteur theory of the European Films.

Choose the most appropriate answer from the options given below :
(1) (A}, (B), (D) only
(2) (B), (C), (E) only
(3) (A), (C), (D) only
(4) (€), (D), (E) only

T=eAy & e FEfaiga 0 @ SH-0 Sidiggim’ & 9y 939 aug T 8?

(&)  rfard wrdri % vard agEl % wiesfas s s G
(B)  undr fodm w giefige fammr aedftent 1 garg

(©) T ¥ |idige &1 faae

) Focefi i F srsien ¥ i Hen =M %1 e

(E) =0 fredl & aifeir figra 1 waeq

e fou e foreredi 1 | weE ITEE ITW TR FHI -
1) %= (A), B). (D)
@  F @), (O, (B
3  FTE A (©), D)
@ % (O, (D), (B)

[Question ID = 2999][Question Description = Q61_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1

[Option ID = 11459]
2. 2

[Option ID = 11460]
3.3

[Option ID = 11461]
4, 4

[Option ID = 11462]

62) Which of the following are the functions of research hypotheses?
(A) Should produce negative correlation

(B} Should generate intervening variables

(C) Should provide direction for the study undertaken
(D) Should eliminate the trial and error method

(E) Must permit quantification of variables

Choose the correct answer from the options given below ;
(1) (A), (B), (C) only

(2) (B), (C), (D} only

(3) (€), (D), (E) only

(4) (A), (D), (E) only

frafafisa © 3 <9-9 iy yheeena 5 o €2
(A)  FRVICHh WREEY 309 HE iiEu)

(B)  HeaaRl =R 39 T TR0

(C) ¥ fFu e e[ = fon wem e wifgu)
My et Aty s afrsmrn s afzm
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(E) =0 % Ti9ofies i Areayes Sufd ¢ =1fgu)

919 feu v famwedi § @ g 390 =1 999 $ifd .

(1) %= (A), B). (C)
(2) = (B), (C), (D)
(8)  %3d (C), (D), (B)
4  FE (A), D), (B)

[Question ID = 3000][Question Description = Q62_MassComJourn_SHAAN_20NOV21_51_5hift2]
1.

[Option ID = 11463]
3.2

[Option ID = 11464]
a3

[Option ID = 11465]
4, 4

[Option ID = 11466]

63) Which of the following are the sources of artifacts?
(A) Literal replication

(B} History

(€C) Instrumentation

(D) Random sampling

(E) Experimental mortality

Choose the correct answer from the options given below :
(1) (A), (B), (C) only

(2) (B}, (C), (D} only

(3) (C), (D), (E) only

(4) (B}, (C), (E) only

freferfiaa 1 2 -2 were % 9w 37

@ il wgh
® gidEE

(€C) W

O s g
® e FeE

49 fev nu Taweui ¥ @ wdl S & = i

1) =E (A), @), (O
@ 94 B), (C), (D)
@ &= (0), (D), (B)
@ %99 ®). ©), (B)

[Question ID = 3001][Question Description = Q63_MassComJourn_SHAAN_20NOV21_51_Shift2]
|
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[Option 1D = 11467]

2. 2

[Option ID = 11468]

3. 3

[Option ID = 11469]

4. 4

[Option ID = 11470]

64) Which of the following are the steps in content analysis?

(A)
(B)
(€)
(D)
(E)

Formulation of research question
Defining the identified population
Selecting an appropriate sample
Excluding the quantitative methods

Avoid defining the categories for data analysis

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A), (B), (C) only
(B), (C), (D} only
(C), (D), (E) only
(A), (B), (E) only

Frtafea 1 & SF-3 Toagas fawcoor % = 27

(&) WY TR H G

B  gEarl T aTEEn iy s

(©  Iogw yivgs 1 w1 HE

(D) ol faftal = s @

E) =@ fagewo & fou wifedl o ofenfye =3 8 s=m
A= fou o e # & 7 I F A F

(L) F9F (A). B), (O

2 % B ©). (D)

(3) %= (C). D). (B)

@ 5T (A). B), (B)

[Question ID = 3002][Question Description = Q64_MassComJourn_SHAAN_20NOV21_51_5hift2]

1. 1

[Option ID = 11471]

Lol

[Option ID = 11472]

R

[Option ID = 11473]

4, 4

[Option ID = 11474]

65) Which of the following factors determine the relevance of the topic for communication research?

(A)
(B)
(€)
(D)
(E)

Vastness of the topic
Significance of the problem
Need to generalise the findings
Reputation of the supervisor

Easiners of the subject

Choose the correct answer from the options given below :
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(M
(2)
(3)
(4)

(A), (B), (C) only
(B}, (C), (D} only
(C), (D), (E) only
(A), (D), (E) only

frafataa § @ S8 e w=r vy % T favg 6 sugsaar Raiia ew €2

(A) fawg = foran

(B)  HOE & UE

(©) wa IEHR 1 'arfied SE FI SEwrHa
(D) WS i fasan

(B) fawgam 6 wadl

A= feu T ferpedi 0 @ TEl I H 9 I

1) = (A), B. (©)

2 = (B), (©). D)

(3) %ad (O), (D). (B)

@  wEE A, D). E®

[Question ID = 3003][Question Description = Q65_MassComJourn_SHAAN_20NOV21_51_Shift2]

1.1

[Option ID = 11475]

iR

[Option ID = 11476]

ai

[Option ID = 11477)

4, 4

[Option ID = 11478]

66) Match List | with List Il :

List I (Author}

List 11 {Concept)
Political socialisation
Meaning theory
Play and entertainment

Structural functionalism

0

(0

(A} Denis mcquail and Gureviteh N
(B} William Stephenson {1
(C) Donald and Virginia Fry (111}
(D} Patterson and mcclure {IV)
Choose the correct answer from the options given below :
(1) (A)-qan, (B) - 0, () - {4v), (D) -
2) (A)- (I, (B) - (V), (C) - (), (D) -
(1)
(3) (A)-(v), (B) - (), (C) - (), (D) -
4) (A) - (1), (B) - (), (€} - (), (D) -
(m
el 1< ury g= 11 @ ferA $if .
T 1 (o)
(A) sFE e we R
(B) Taferm wbaq
(C) SHEE Wg i %E
(D) Uex[ wg fFEr
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F= feu mu fet W @ g I = T il
(1) A -dn. @) — dID. © — dv).
2y @-ddn. @ - av. ©) - O.

B @A-av., @ - Jdn, (©) - dn,
4) A-0O. @& —adn. © — dv).

@) - @
(D) - D)
@) - @
(D) — i)

[Question ID = 3004][Question Description = Q66_MassComJourn_SHAAN_20NOV21_51_Shift2]

ti:

[Option ID = 11479]
.00

[Option ID = 11480]
3.3

[Option ID = 11481]
4. 4

[Option ID = 11482]

67) Match List | with List Il :
List | (Book)

(A} The People’s choice ()

List Il (Author(s)}
Herbert Schiller

(B} Empire of communication (Il) H.D, Lasswell

(C) The Mind Manager

(D) World Politics and personal
insecurity

(I H.A, Innis

(I¥) Paul Lazarsfeld

Choose the correct answer from the options given below :

G

(2) (1)

3) {111y

(4) (A)-(y, (B) - (¥}, (C) - (), (D) -

g 15 g1y = 10 &1 e i
gl 1 (3)

(a) 7 figeq <Arag

(B) FHUER A% FRFHIA

(C) 7 HEE A

@) IR fifatera we vde i

2 feu e fawedi 0 O ad 3w % =3 fifsw .

1 @A-O @ -3dn, (© - dy,
2 @-av, ® - dnh. © - @,

3 @W-ap. @\ -O. (© - dV).
@4 @-n, @ - av), (© - dan,

[Question ID = 3005][Question Description = Q67_MassComJourn_SHAAN_20NOV21_51_5hift2]

| 1. 1

(A) - (I, (B) - (1, (C) - @, (D) -

(A)-(I¥), (B) - (), (C) - (), (D) -

(A) - (1},  (B) - (I}, €y - (v), (D) -

()

g 11 (7E)
@ F& e
) &=
(IID) wa.Y, 3hHE
(IV) 9 wsEbes
D) — (IV)
D) — (Ih
(D) — (IID)
M - @D
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[Option ID = 11483]
2. 2

[Option ID = 11484]
3. 3

[Option ID = 11485]
4, 4

[Option ID = 11486]

68) Match List | with List Il :

List | (Diffusion Research Tradition) List Il {Innovation Studies)
{A) Anthropological () Technological innovations
{B) Early sociology {l) Technological ideas
{C) Marketing (Ill) Ham Radioc
(D} Communication (I¥) New products

Choose the correct answer from the options given below :

(A) - (D), (B) - (1), () - (), (D) -
(I¥)

(2) @W-0n, @ - W, (€ - av), @ - (1)

(A)- (), (B) - V), (C) - (), (D) -
(I

(A) - (IV), (B) - (), (€ - (), (D) -

(1

(3)

) (1)
Tt 1% @y gefi 1 o faemm =ifs
g I (forem ot o) gefi 1T (FE=T 317)
A O Heaifehe e
(B) anig-HEE WA (D) haficem e
(©) fre (I 2= d&
(D) FER AV) 7T IR

Hi=t fau 7 frpedt § & @8 sat = == A

O @-@O ®&-dj © - adm, @O - davm
@ A=, @ - dn, © - av), @O - @

3 @-dn ®-4adav. © -0, @O - dh
@ @W-av. ® -0 © -aa. @O - Jdb

[Question ID = 3006][Question Description = Q68_MassComJourn_SHAAN_20NOV21_51_Shift2]
1.1

[Option ID = 11487]
2.2

[Option ID = 11488]
3.3

[Option 1D = 11489]
4. 4

[Option ID = 11490]

69) Match List | with List Il :
List | List I
(A) MNew Journalism (1960’s) () Bastian Obermayer
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{B) Colloborative Journalism (11} Upton Sinclair
{C) Yellow Journalism (I} Tom Wolfe
(D) Muckracking (I¥) W.R. Hearst

Choose the correct answer from the options given below :

(1) (A) - (1), (B} - {I¥), (€) - (I, (D) -
(N
(A)- (), (B) - (1), (€} - (¥), (D) -
@
(A)-(v), (B) - (), () - (m, (D) -
@ )
(A)- (I}, (B) - (I}, €} - (v), ) -
@
gt 1w g&l 11 1 faerm $ifr
T I 11
(A) Y-SHAH (1960 F1 TIF) (O dfER s
(B) hiaEnfed sy I 3 e
(C) Uecll SHfeTen (II) <™ 9%
(D) u& (IV) T IR, B

49 feu o fosredt § 9 W 39 %1 999 Fifso .

H @-0 GG -awvm, © - adn O - d)
@ @-dn ® -O. © -av). O - adb
3 @-avm. ® -0 ©-dn O - d
@ @-a. ®-O © -av, @ - Jdm
[Question ID = 3007][Question Description = Q69_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1.1

[Option 1D = 11491)
2. 2

[Option ID = 11492]
3.3

[Option ID = 11493]
4, 4

[Option ID = 11494]

70) Match List | with List Il :

List | (Pragency) List Il (Headquarters)
(A) Edelman () Paris
(B) MSL group () London
(C) Brunswick (Illy New York
{D) DOgilvy {I¥) Chicago

Choose the correct answer from the options given below :

(A) - (IV), (B) - (), (€ - (), (D) -

(1) (1)
(A) - (), (B) - (IV), (C) - (I}, (D) -
(2) (N

(3) @)-m, (&) - @, (€ - av), () -0
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(4) (A) - (I, (B) - (),

(C) - (), (D) -

(1V)

= 1% wry = I 1 e Shifa
gefi T (e wiE) it 1T (gearer)

(A) Tfegmi () wR™
(B) TUH UH TS YU D e
(©) it () =i
(D) e (Iv) feerm
i feu U foewmedi § @ g 33 1 999 hifsre
1 @W-IWV). B-O (© -a, @O - dm
@ @-adan. ® -av. © -O. @O - 3an
G @-Ja. @& -Jdm © -av). O - O
4 @W-O ®-4a (© -Jdm @O - av

[Question ID = 3008][Question Description = Q70_MassComJourn_SHAAN_20NOV21_51_Shift2]
|

[Option ID = 11495]
2, 2

[Option ID = 11496]
3.3

[Option ID = 11497]
4, 4

[Option ID = 11498]

71) Match List I with List Il :

List 1 (Country) List Il (Information Legislation}

(A) Canada ()  Right to Information Act, 2014
(B} Australia (Il) Access to Information Act, 1983
(€) India (lIll) Freedom of Information Act,

1982
(D) Bhutan (I¥) Right to Information Act, 2005
Choose the correct answer from the options given below :

(1 A)y-ay, @ - W, (©€ - «(4v), (@) - ()

Ay -, @ - @v), (© -da, (@O -
(m

(A) - (IV}, (B) - (), (€ -, (@O -

(2)

G
(A) - (1), (B) - (I, (€) - (), (D) -
(4) (V)
T 1% | = 1T o faem fifsw
A I (G = 11 (= § Hafug faam)
(A) AR @ =1 & AR sAfafem, 2014
(B) e (D a1 o sfefraa, 1983

(C) w4 (IID) H=AT %1 Weal 3nafeEm, 1982

F B o — 4T T —— Ly - ¢ e T e il
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WLy R WLV TAMTU U UMM ST, LU D
= feu o farereul 3 9 wd IR @ 937 il

1 @-adp. & -dadh. © - av. O - @

2 @-an @®@-avw. ©-O. O - db
& @-a), & -0 (© -ad. @O - d
@ @W@-O ®-ad. © -dp. O - dv

[Question ID = 3009][Question Description = Q71_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1

[Option ID = 11499]
3.7

[Option 1D = 11500]
3.3

[Option ID = 11501]
4, 4

[Option ID = 11502]

72) Match List | with List Il :

List | (Media outlet) List | (Ownership pattern)
(A} The Hindu (1) Cross - media ownership
(B) The Times of India (1Y Trust
(C) CNN-TV 18 (1) Family ownership
(D) The Tribune (IV) Corporate ownership (external}

Choose the correct answer from the options given below :

(A) - (I, (B) - (), (€} - (IV), (D) -
(I

(2) (A)-m, (&) - @, (©) - av), () - )
(A) - (),  (B) - (1), (€} - V), (D) -

(1)

(3) (I
(4) :ﬁ;' (iy, (By - vy, (C) - (1), (D) -
T 1% T g 11 frem il
A sl @  wo-ifen wifir
B) 7 e A% 3 an =
(C) @ w@-dd 18 Q1D ufar 1 =it
®) = e V) i @it (@)

9 feu wo fereredi § @ Wl 39¢ 1 99 HiC

1 @W@-O ® -0 ©-av, @O - d
2 @-ad. @ -dadn ©-am™. O -0
@ @-dn ®-O. (©-avm, @O — d
@ @- ®-4adv, -0, @O -ad
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' [Question ID = 3010][Question Description = Q72_MassComJourn_SHAAN_20NOV21_51_Shift2]
154

[Option ID = 11503]
2.2

[Option ID = 11504]
3 3

[Option ID = 11505]
4. 4

[Option ID = 11506)

73) Match List | with List Il :

List | (Animation Studio) List Il (Content created)
(A} Maya Entertainment ()] Chhota Bheem
(B} Toonz Animation (Il) Karma Chakra
(C) Green Gold Animation (lll) Mondo Yan
(D) Studio Durga (IV) Aryan

Choose the correct answer from the options given below :

1 @W-0, @ -a, (©-m -

(V)
(A)-am, ) -y, © -, (D -
(2) V)
(3) (A-(v), ® -m, (€ -0, @O -
(1)
(4) :ﬁ; Wi W0 (R -0 Ok~
g 1% & g=h 1 w1 faem Sifse
L R I o0 11 o st
(A) W TRALHE @ T m
®) T e an wEw
(©) 1 Tiee ufiem -
@ g V) s

frr feg mu faeedi @ O wdl 3w =1 999 Fifor

@ @D G -dnp © -d)y O -av
@ @-adn. & -dnp. © -O. @O - av
3 @W-a), ®-d, © -0, (@O - Jdh
@ @W-Iv), ®-dadn ©-@O (O - d

[Question ID = 3011][Question Description = Q73_MassComJourn_SHAAN_20NOV21_51_Shift2]
2 B

[Option ID = 11507]
1)

[Option ID = 11508]
3. 3

[Option ID = 11509]
4, 4

[Option ID = 11510]

74) Match List | with List Il :
List | List I
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(A) Soviet Montage (" Rome, open city
(B} MNeo realism (Il Cleo from five to seven
{C) French New Wave (Ill)y A. Taste of Honey
{D} British New Cinema (I¥) Strike
Choose the correct answer from the options given below :
(1) (A) - (), (B) - (I, () - (), (D) -
(V)
(2) @)-@y, @) -av), (€ -, (@ - W
(A) - (IV), (B) - (I}, €y - (an, (@) -
(3) (1
(A)- (v}, (B) - (M), (C) - (I}, (D) -
4) (1
gt 1% @ g=h 11 = faem $ife
g1 g 11
(A) wifaas giaw @ Tm, siga R
® fr Rafas @D e S wiga g
(C) %= =da D) #A 3= A% gt
D) foifem = femmm av) R®EF
i feu o fomeqi § @ U@ I H 9 Hif
(D A -@, @® - dDh, () - dD, D) — 1AV)
(2) A-dn, @ - av, © -4dn @@ - @
3 @A-aV)., B -0 (© -ad) @ - dab
€) @ —-Ivy., @ - dh, © - @O. O — JdIDh

[Question ID = 3012][Question Description = Q74_MassComJourn_SHAAN_20NOV21_51_Shift2]

1. 1

[Option ID = 11511]
2.3

[Option ID = 11512]
%3

[Option ID = 11513]
4, 4

[Option ID = 11514]

75) Match List I with List Il :

List | (Factors of research)

(A)

(B)

(€)
(D)

Tenacity
source.
Intuition (1) Truth is found out by repeated objective
analysis.
Authority (Ill} Something is true because it is self - evidence,
Science (V) Something is true because it has been true,

List Il (Description)

(I  Something is true because it is from a trusted

Choose the correct answer from the options given below ;
(A)- (), (B) - (), (€) - (V), |

(A) - (IV), (B) - (I, (C) - (I},
()

(1)

(2)

D) - (I
(D) -

prepp
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(3) (A) - (I, (B) - (I, (€) - (), (D) -

)
W-a), @ - ), © -0, O -
4) ()

(1) (A} - (I, (B) - (1), (C) - (IV), (D} - (I} (2) (A) - (IV), (B) - (1Il}, (C) - (1), (D} - (1)

(3) (A} - (I, (B) - (), (C) - (I}, (D) - (IV) (4) (A) - (1), (B) - (IV), (C) - (1), (D) - (lIN)

gft 1% @ g=h 11 = faam $ifew

=it T (T —TeEh) gl IO (frarny
&) ez @ B =S g R i 77 THvas w9k | 9IgYd g3 2
B) FaFH an gt stvn e F Goeey wer sgarfed g 3
(C) Wit (D) i3 =9 w3 2 Filh 78 wr: T 2|
(D) fazm IV) % < gl 3 HifH 98 9 @2

9 few ne faeredi § @ @ 39 &1 934 il -

1 @-d @ -dn, ©-av, @M -0

@ @-av. & -dnp ©-a0O. @O - adah
@ @W-dnp ®»-O. (©-ad) @O - av
@ @-am @®-aW., ©-o, O - dDn

[Question ID = 3013][Question Description = Q75_MassComJourn_SHAAN_20NOV21_51_Shift2]
s U5 |

[Option ID = 11515]
2. 2

[Option ID = 11516]
3 3

[Option ID = 11517]
4. 4

[Option ID = 11518]

76) Find out the correct chronological sequence of the following:
(A) Tracts

(B) Newsbooks

(C) Corantos

(D) Diurnals

(E) Newspaper

Choose the correct answer from the options given below :
(1) (A), (C), (D), (B), (E)

(2) (B), (C), (D), (E), (A)

(3) (C), (D), (E), (A), (B)

(4) (D), (E), (A), (B}, (C)

frafaiea =1 98 =% 1 =Efer Fiso .
A ¢w
B HgH

(C)  HIT=



www.prepp.in . re p p

Your Personal Exams Guide

(D) TRAY
(B IR

4= feu mu fywedi § @ T I9C w1 wHa Hifse .

0 @), O, D). ®), (E)
2 B, (O), (D). (E), (A)
3 (O, D), E), @A), B
4 (D). E), A, B). ©)

[Question ID = 3014][Question Description = Q76_MassComJourn_SHAAN_20NOV21_51_Shift2]
R

[Option ID = 11519]
2. 2

[Option ID = 11520]
3. 3

[Option ID = 11521]
4. 4

[Option ID = 11522)]

77) ldentity the correct sequence of following social reformer - journalists in India, in terms of their publications:
(A) Mahatma Gandhi
(B) Bala Gangadhara Tilak
(C) Raja Ram Mohan Roy
(D) Ram Manohar Lohia
(E) Veereshalingam Panthulu
Choose the correct answer from the options given below :
(1) (A), (B), (E), (D}, (C)
(2) (B), (D), (C), (A), (E)
(3) (©), (E), (B), (A), ()
(4) (D), (A), (C), (E), (B)
AR % FrAfIRaa T -gURE-TTFHRI Sl 3T FHRA & FYR R ¥l 0 | oaferq Hifg)

(4  WEE T

(B) =R faas
(C) U™ Higd 1™
(D) 5 e ife
(E) Ttarferm dyg

4 feu o fawpedi d 9 9 3w @1 w9q Fifsw .

(1 @A), B, E), D), O
2 B, D), ©O), &) B
3 (O, (E). ®),A). D)
@ (D), &), O, E), B

[Question ID = 3015][Question Description = Q77_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11523]
2. 2
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[Option ID = 11524]
a3

[Option ID = 11525]
4, 4

[Option ID = 11526]

78) Identity the correct sequence of elements in a newspaper’s front newspage.
(A) Headlines

(B) Mameplate

(C) Ears

(D) Anchor story

(E) Skyline banner

Choose the correct answer from the options given below :
(1) (E}, (B), (C), (A), (D)

(2) (A), (B), (D}, (E), (C)

(3) (B), (C), (A), (D), (E)

(4) (C), (D), (E), (B), (A)

HHTER 95 o Begs U H fefefaa sragai & wel wn i gger i)

(&) gEAEH
(B) SO
© wd

O) TREl

(E) ThIEATH o

= feu o ferepedl 0 4 ) 39 & 99 Fifew

1  ®.®.0),A .0
2 @A.®. 0. E O
3 B ©O) A, D.(E
@ (©O.D).E.B. W

[Question ID = 3016][Question Description = Q78_MassComJourn_SHAAN_20NOV21_51_Shift2]
T

[Option ID = 11527]
2. 2

[Option ID = 11528]
B

[Option ID = 11529]
4, 4

[Option ID = 11530]
79) James Webb Young in his model on how advertising works gave a five part logical sequence. ldentity the correct
sequence from the options.

(A) Overcome inertia

(B) Add Value

(C) Remind
(D} Disseminate
(E) Familiarise

Choose the correct answer from the options given below :

(1) (B), (€), (A), (E), ()
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(2)
(3)
(4)

Jra dsd 3 3 faeen & wEew w@est oved giea 4 y=eil aifdes oo faftés fem 21 fee o faweg o

(A), (B), (€), (B), (E)
(C), (E), (A}, (B), ()
(E}, (C), (D), (A), (B)

EE:EETREC T

Q) T W HE I

® I e

(Cy 07 T

@®) R

(E) oftfaa s

A= fou o foeredi 9 @ wE W == b
1 B (). A), E). D)
@ @A) ®. ©) O), E
3 (O (E). @A). B). (D)
@  (ELC) D). A). B

[Question ID = 3017][Question Description = Q79_MassComJourn_SHAAN_20NOV21_51_Shift2]

1.1

[Option ID = 11531]

2. 2

[Option ID = 11532]

i

[Option ID = 11533]

4. 4

[Option ID = 11534]

80) The sequencce of logical questions in planning for public relations campaigns is

(A)
(B)
(C)
(D)
(E)

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

1 gk HfvEE g Ao Fam 4 aiibe gl 1 % 2

(A)
(B)
©
D)

(E)

What do | want to achieve?

How shall | say it?

Who do | want to talk to?

How do | know | have got it right ?

What do | want to say ?

(C), (B), (D), (A), (E)
(A), (C), (E), (B), (D)
(A), (C), (D), (E), (B)
(D), (€), (A), (E), (B)

H ] W BT SRl B 2
I8 FE 7

i fera® =ma #3191 )

q3 &4 g =i 6 39 38wt uwen 22

4 o1 e AT 8 2
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= fou 0 eyt 4 ¥ HEl 39 &1 =5 I

@M ©.®. ). ). E
2 &), (©O). E), ®B). D)
@ @ ©). O, E.B
@ D). O &, E.B

[Question ID = 3018][Question Description = Q80_MassComJourn_SHAAN_20NOV21_51_Shift2]
154

[Option ID = 11535]
Lok

[Option ID = 11536]
3 3

[Option ID = 11537]
4. 4

[Option ID = 11538)

81) Select the correct sequence of the following statutes in India,
(A) The Official Secrets Act,
(B) The Indian Penal Code,
(C) The Working Journalist’s Act,
(D) The Press and Registration of Books Act.
(E) The Right to Information Act,
Choose the correct answer from the options given below :
(1) (A), (E), (B), (C), (D)
(2) (B), (D}, (A}, (Q), (E)
(3) (C), (E), (B), (D), (A)
(4) (D), (A), (E), (), (B)
a1 Fpafatiga gt & wd s e

a)  sifemies T siufem
® i goe wfka
()  wesidl wrer srfaframg

D) 9 3R gEAs Wdiem srfafrag
(E) "= % 3rfusn sfuafem

frg few Mo fampedi § 8 v W &1 =1 i

1 @A.E®. G ©O.D
2 B, D). @A), ©).E)
3 (O, (E).B). D). A)
@ DO W E.©.OB

[Question ID = 3019][Question Description = Q81_MassComJourn_SHAAN_20NOV21_51_Shift2]
154

[Option ID = 11539]
2. 2

[Option ID = 11540]
3 3

[Option ID = 11541]
4. 4
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[Option ID = 11542)

82) Choose the correct sequence of the following trends in American Journalism:

(A)
(B)
(€)
(D)
(E)

Choose the correct answer from the options given below

(1)
(2)
(3)
(4)

[Question ID = 3020][Question Description = Q82_MassComJourn_SHAAN_20NOV21_51_5hift2]

1.1

st weTia s 4 fefafaa wzmi @ wd w9 g .

(A)
(B)
()

D

(E)

a1 feu o fospedl § & wdi 3w %1 wwa Fifvw

(1
@)
3
(4)

Pass-on readership
Penny Press
New/Yellow Journalism
Jazz Journalism

Corporate Journalism

(A), (B), (€), (B), (E)
(B), (€), (D), (E), (A)
(C), (D), (E), (A), (B)
(D), (E), (A), (B), (C)

urE -3 fistiR
T T

= /AA T
EERCIRE
HRE FHfeT=H

(A). B). (C), (D). (E)
(B). (O). (D), (E). (A)
(©). D), (B). Y. B
D). (E). &). B). (O

[Option ID = 11543]
1)

[Option ID = 11544]
3. 3

[Option ID = 11545]
4, 4

[Option ID = 11548]

83) The different stages of Internet development in sequence are:

(A) Data transfer system in packages.

(B) Appearance of MP3 format,

(€) Creation of first local network.

(D) Creation of search engine.

(E) Development of hypertext documents (WWW).

Choose the correct answer from the options given below ;

(1) (A), (B), (C), (E), (D} (2) (B), (C), (D), (E), (A)
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(3) (€), (D), (E), (A), (B} (4) (A), (C), (E), (D), (B)

T -Saavhe & fafir wehn =1 vt w0 2 -

(4)
(B)
(©
(D)

(E)

A6 4 27 Farer yorreh

un b 3 ®ihe H1 3gUE

WY Tlihel 42 1 o

a9 3 H goH

FEW R SR (Fosarse ad) s T s

=t feu mo ferpedi 4 & v 3 @1 = Hifo

1
(2
3
(4)

[Question ID = 3021][Question Description = Q83_MassComJourn_SHAAN_20NOV21_51_5hift2]

(&), (B), (C), (E). (D)
(B). (0. D). E). &)
(©). (D), (B). (&4). (B)
A). ©). B). D). B

1, 1 [Option ID = 11547]
2. 2 [Option ID = 11548
3. 3 [Option ID = 11549]
4. 4 [Option ID = 11550]

84) Which common order is to be followed in a news story according to Carole Rich?

(A)
(B)
(€)
(D)
(E)

Lead

Lead Quote
Comments
Nut graph

Impact

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Fa T & e B v (A wl) 1 featatas 0 9 fea o s & age fEn o 2

(B), (A), (C), (D), (E)
(A), (D), (B), (C), (E)
(A), (D), (B), (E), (C)
(A), (B), (D), (E), (C)

(A =

® e He

(©) wHRE

(D) FHAH

E®) g

A e m foehedl W | WA 3 =RH BT
1 B @A). (), D). (E)

2 @), D). ®).©).E

6)

(4), (D), (B), (E), ()
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@ @A), B D), E), QO

[Question ID = 3022][Question Description = Q84_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1

[Option ID = 11551]
2. 2

[Option ID = 11552]
3 3

[Option ID = 11553]
4. 4

[Option ID = 11554]

85) The correct sequence of basic steps in focus group research is
(A) Prepare the study mechanics

(B) Determine the number of groups needed

(C) Select a sample

(D) Define the problem

(E) Execute the research plan

Choose the correct answer from the options given below :
(1) (D), (C), (B), (A), (E)

(2) (A), (B), (D}, (E}), (C)

(3) (B), (C), (A), (D), (E)

(4) (E), (D), (€), (B), (A)

wiend 4 e o gengm =won 1 |d 4 3 ¢

(&)  3teEEa Tt dan e

(B i aggl H gen smufa w0
(©) wiest &1 =

(D)  HuE &l 9RAIiYE &=

(E) 309 FISH1 %l SE=d &l

#f= feu o foeredi 4 9 v IR w1 wEa i .

(D @D ), B). A, (E)
2 A, ®B), D), E, )
3  B.0.AQ.D,.E
@ (B. D). [B). &)
[Question ID = 3023][Question Description = Q85_MassComJourn_SHAAN_20NOV21_S1_Shift2]

1.1

[Option ID = 11555]
2.2

[Option ID = 11556]
3.3

[Option ID = 11557]
4, 4

[Option ID = 11558]

86) Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R,

Assertion (A) :  The classical functions of media represent their universal acceptance among media
theorists.

Reasons (R) : The functional analysis theory of media has its dysfunctions listed by critics.
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In the light of the above statements, Choose the correct answer from the options given below:
(1) Both (A) and (R) are true and (R) is the correct explanation of A
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of A
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

H= @) %o fau e 31 T SR (Assertion A) & F9 H fafed 2 o1 gHU Iu% HNU (Reason R) &
e I

aifireea (A):  Hifewn = wenfaehl wrl fifsa fagiosl 4 3h qEviies S = fsia s 2)
&1 (R) tifem & verias fayewn faga & Rfspr sneemi g gefiag &6 21

IWIH FYA & 37 °, 9 feu 7o fawed § | 9 3@ =1 923 Hifseg

(1) A 3R RAIH8 & 31 R, A =l 95 =871 8|
(2) A 3R RaH Hdl 2 30 R, Al 9g =men 4 2
(3) ATH 2, dlha R 319N 2|

(4) A I3EA L, 9 R U 2)

[Question ID = 3024][Question Description = Q86_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1

[Option ID = 11559]
3,7

[Option ID = 11560]
3 3

[Option ID = 11561]
4. 4

[Option ID = 11562]

87) Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R

Assertion (A) : Traditional developmental approaches of ‘understanding reality’ is a violation of the
very idea of communication.

Reason (R} : A criticism is that the notion of mass communication itself is oxymoron leading to
information oligarchy.

In the light of the above statements, Choose the most appropriate answer from the options given below:
(1) Both Statement {(A) and Statement (R) are correct

(2) Both Statement (A) and Statement (R) are incorrect

(3) Statement (A) is correct but Statement (R) is incorrect

(4) Statement (A) is incorrect but Statement (R} is correct

H= @ @R fou e 21 us iR (Assertion A) % ¥4 1 forflad 2 @ g1 36 B (Reason R) %
QW

AN (A):  “Iurd & EET ¥ SR 9NIie fSEwes 3urm HER 6 E SEgR &
Jeeted 2

FR (R) : T A AZ 8 o 99 H9R & AN A 39 Y feriensmd] 21 Fwes gimm
WY H{EA1 Heqds & o g 2

IUUE HUA & 3elias 4, Fia few mu faemedt 4 @ wdl 3w 1 939 $ifdg|

i

2 e T "
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11) AN L S 851 5

(2) A IR RIE = 2 8 2
(3 ATH 2, dfsT R 3w 2)

(4 A 3GA 3, 9l R O 2

[Question ID = 3025][Question Description = Q87 _MassComJourn_SHAAN_20NOV21_51_Shift2]
1.1

[Option ID = 11563]
22

[Option ID = 11564]
3.3

[Option ID = 11565]
4, 4

[Option ID = 11566]

88) Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R,

Assertion (A) :  The television news presentation is a disjointed narrative.
Reasons (R) : In the absence of alternative credible information, the media frames do matter for the
audience.

In the light of the above statements, Choose the correct answer from the options given below:
(1) Both (A) and (R) are true and (R) is the correct explanation of A

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of A

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Hre 31 % fau e 31 ©F AEHEA (Assertion A) & ®Y U fafad 2 |1 guu 30k FH0 (Reason R) &

®qY :

AP (A) :  Cefifgem guEm wgia e (Fafm) sames 31
TRV (R) : Jopfous fovaai@ gEa1 & saE 4 FwEsl & fau fifen & o= Ffvsg =9 &
AU 2|

IGU A H 31 9, 9 fer o el 0 @ w3 = =9 i)

(1) A 3R Td 2 3R R, A 9 smEn 2
(2) A IR R T TE 2 IR, A F G =EA TE 2
(3 ATAE A R 30 B

(4 A A 2, ¥ R ¥ 2

[Question ID = 3026][Question Description = Q88_MassComJourn_SHAAN_20NOV21_51_5hift2]
< 0

[Option ID = 11567]
2. 2

[Option ID = 11568]
3. 3

[Option ID = 11569]
4. 4

[Option ID = 11570]

89) Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion (A) : The law of copyright is also applied to advertisements in media.



www.prepp.in . re p p

Your Personal Exams Guide

Reasons (R) : The copyright in the advertising matter belongs to the advertiser, in the absence of any
contract otherwise,

In the light of the above statements, Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

Both (A) and (R) are true and (R) is the correct explanation of A
Both (A) and (R) are true but (R) is NOT the correct explanation of A
(A) is true but (R) is false

(A) is false but (R) is true

Hi= 21 % fou e d) v ifEHeR (Assertion A) % w9 3 faRad g @ g@0 39 BV (Reason R) %

oy i

sfmya (A):  wiaferafven & fafa difsm § fommai o o s gt 31

HRI (R) : fasres & ae o wiafereafyer s =1 dfag & 29 | fasmem waga seErE &

g 21

I9U%h HUA $ Tl 4, 9 few Mo fawmedi 1 @ wd s w1 = ifsgy

ey
@
(3
4

A 3 R @41 931 2 3 R, A I &1 =are 21
A 3R A9 981 2 3 R, A I &1 swren 38 21
A T 3, A3 R 3w 21

A 310 B, dfesl R wa 21

[Question ID = 3027][Question Description = Q89_MassComJourn_SHAAN_20NOV21_51_Shift2]

1.1

[Option ID = 11571]

2. 2

[Option ID = 11572]

Feih

[Option ID = 11573]

4. 4

[Option ID = 11574)

90) Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion (A) : More media means more accessibility as well as increase in economic concentration in
media, besides knowledge gap between rich and poor,

Reasons (R} : The conventional mass media like newspapers, radio and television along with electronic
and digital options are responsible for expanded reach and options for the consumers.

In the light of the above statements, Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

Both (A) and (R) are true and (R) is the correct explanation of A
Both (A) and (R) are true but (R) is NOT the correct explanation of A
(A) is true but (R) is false

(A) is false but (R) is true

Hr= 31 %o e e E1 U FWRUA (Assertion A) % ¥ 1 fafaw 2 A g8U 3W%k HAW (Reason R)
A

fErem Ay difem A rfow Ioceyar @ ol 3t wie & nw 39 ) W@ $ e A s

% wiy-gry fifgar 4 anfdfs e 4 sead figg 2

F1U (R) : wTER v, e st defifasm 3 yuumen S eae soaie we feshied famew &

T IuifEna % foe forga afem oiv faseg & fore sawrh 21
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ITUH HEA & A’ H, 9 fou e fashedi 0 | @@ S H 999 i)

(1) A 3R R M 991 2 3 R, A 1 9&1 sq/&1 21
(2) A 3R RS Ul 8 3T R. A < 9 = 9 2
(3) A%AzZ, dfFT R 35 2

(4) A 3T 3, 9fFT R a4 2

[Question ID = 3028][Question Description = Q90_MassComJourn_SHAAN_20NOV21_51_Shift2]
j it

[Option ID = 11575]
7.2

[Option ID = 11576]
3.3

[Option ID = 11577)
4, 4

[Option ID = 11578]

Topic:- 63MassComJourn_B

1) Read the passage carefully and answer the question that follow:

Many of the theorists whose ideas we discuss believe that media play a central role in modern social orders or our daily
lives. Rather than presenting us with the types of empirical evidence favored by post positivists, they ask us to accept their
view of media influence using logic, argument, and our own powers of observation, Some describe compelling examples to
illustrate their arguments. Others offer empirical evidence for their belief in powerful media, but they use innovative
research methods, and so their work is challenged and questioned by post positivist researchers. During the 1970s and
1980s, supporters of the limited-effects perspective were especially troubled by the rise of cultural theories. They were
quick to question the evidence offered by cultural theorists. They saw cultural theories as new variations of mass society
theory-a theory they fell they had quite effectively debunked in the 1950s and 1960s, Limited-effects researches -
believed that cultural theories were too speculative and the empirical research generated from these theories was too
loosely structured.

Cultural studies and political economy theorists employ a broad range of research methods and theory-generation strategies,
including some that are unsystematic and selective. As a result, critics believe that personal biases and interests inevitably
motivate culture researchers and affect the outcome of their work. But, argue cultural theory's defenders, this is
acceptable as long as researchers openly acknowledge those biases or interests.

The techniques used by many critical or cultural researchers are often qualitative method. That is, they highlight essential
differences (distinctive qualities) in phenomena. Epistemologically, the creation and advancement of knowledge tends to
be accomplished through discourse (debate and discussion) involving proponents of contrasting or opposing theoretical
positions. Theory is advanced through the formation of schools of thought in which there is consensus about the validity of a
specific body of theory. Often rival schools of theory emerge to challenge existing theories while developing and defending
their own. Proof of a theory’s power often rests in its ability to attract adherents and be defended against attacks from
opponents,

Not surprisingly, researchers who adopt a post positivist approach find cultural theories hard to accept. They are skeptical of
theories evaluated more through discourse than through empirical research. Post positivist media researchers place far less
stress on theory development or criticism. Their research methods are used to generate theory and to test theory rather
than as a means of making qualitative differentiations, They argue that if empirical research is conducted according to
prevailing standards, findings can be readily accepted throughout the research community. If other researchers doubt the
validity of specific findings, they can replicate (duplicate) the research and then report conflicting findings. But in truth,
these conflicting reports are quite rare and provoke considerable controversy when they are published. Though there is
verbal debate between those who espouse conflicting empirically based theories, these disagreements rarely appear in
print, When they do, both sides present empirical findings to support their positions. Arguments often center on
methodological disputes about the reliability and validity of research findings rather than the strength of the theoretical
propositions-researchers disagree about whether appropriate methods were used, question the application of specific
methods, or argue that the data were improperly analyzed. Much less attention is given to the structure and consistency of
theoretical propositions. When theory is developed, it takes the form of middle-range theory-theory that summarizes sets of
empirical generalizations and doesn’t make strong assertions or assumptions about the role of media.
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38 Forp fradl w =i 3@ § 3 | w5 9 feuieen H a2 6 gr Sids sriwam ik
g amifos sEw ¥ difen 6 ygm e 21 yomEied & g % g & fageer e
SARTAUfI® Weg & YHY F 9% § 3, 3% 29N 999 Wgd $E H 99 9 996, 989 AR TR 30 Wl
) Seorrfe 1 YR & g Hifen & ywa % ey 8 3 faen @ w@fier w1 & fav wga 31 3 A
T AN I aH B g W FE F AU e e s w41 d= e fitgm o
e ga $ fere swmmufas @ F0d 7, fg 9 7aRd s ogfedi 1 3w+ 8 3R
HAVET, THAIAG-F o Fadl Il o+ FH H g od 8 3 39w 9 faga @ 21 g9 1970
3R 1980 % Turnl H Hifim wwE gonl & ands favewe 8 wicplos faguidi & wEr | st )
g g @ wrsfe fagas g v wed s 3y ) 9% g9 4 wieske fagae 9 oa
Tog| & v aiEd € - v Uw g e 3 1950 3 1960 % el T quiE: aitem @ fem
o difta ywr % weswatst 6w o Be aipfos faga siftea sgem w snurf@a 8 sl &
gl ¥ Wiea ATl Sy weaa famra it a8 2)

qiEplas seas AR UoHias seferaea ¥ fagiaen sga @ my ggfiat s fagia
FEARE 1 3@ w@ E ol Fo T R gt wite 2 S sromefee ol e € s
qiormTEaEg, e % ORI 8 T JafErs g i fdi A aiepfe sawdlst & sfvefa g
srFvnreEl 2 3R 3 yaE Ik Y SR W i ugal 31 e anaplas HEia % umeR wivn w9 2
% 5@ 7% Mudal oo AET 81 31 fEdl & WieR 1 3, 99 9% 78 Wi 2

Fga H Hilaeh AU URSpfash Mehaisl g Tga ag-ih H aeL sk fafeen 2l 2, srfa
9 giRaeTRTd g o (fiesr vl ) s 3APR X 21 IR dmre 6 gfte 8§ 31 1 goF i S
frtigerr sryan flte @ faufia Sgifos amior & fasd (srefmr sik =) % o | ©of 2a 2)
ofi fargia =1 2a Taamam % oo % mem 3 e "gen a2 foe fagia fa & faiearra & e
4 oHag B 21 W e U snar g T fadedt fagrareensl s1in g % fagal & wfadrgn st sl
aferen = & %9 1 foemm fugia & A g §) e fagm & awed &1 yom v sued w9
ﬁwﬁwﬁﬁm&ﬁam@aﬁxﬁxﬁﬁaﬁ 3 A for o g | wfien SE gadt gt s w

HT 2

T80 &I v T B T uvm yeawag gfew @l wien e Muwdis & fae st
fagral = Wien $ w21 32 sRmafas my i sien =91 9 f=m tum % wem 8 geifea
& G H v G 2| 9eE yeuerEre fifew Mawdl foga o e st sTee W Sgd #Y
21 I Wigugiaal &1 3w MgE % Siaued 3R 39 wlisw & fog e sar 2 a9 g9k
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wed 2| fopeg o 38 yaR A faodia fard amom 3 af 9@ weeH g9 9 agd
B 21 Fufy faufi 3 gl 1 SAAHETE SUHAI 6 0 qI96 a8
2 ferai & Fi fofaa B seorg o srar 31 S Hoft oft Sen gran B A1 < ua
ot wraTsl % v o sigamafas fsed wiga #d 21 3% g SRgd oo 9 Hedifass deh-
H FmE & 9N W FA HoSe Wy F giom 1 fagerria R feemem et d vefa @

. | 38 9a9 4 srEnfa dl 2 T agogaa faieeni =0 wam
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H
5
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g2

What do the post positivists do to prove the influence of media?

(1
(2)
(3)
(4)

L

Hifsn =1 @ fug =6 % e wwe-wemaad 1 +0 § |

(1)
(2)
3
(4)

Argue with non-positivists
Reject the findings of cultural studies
Present empirical findings

Challenge the methodologies of non - positivists
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[Question ID = 3029][Question Description = Q91_MassComJourn_SHAAN_20NOV21_51_Shift2]
1.1

[Option ID = 11579]
2. 2

[Option ID = 11580]
3 3

[Option ID = 11581]
4. 4

[Option ID = 11582)
2) Read the passage carefully and answer the question that follow:

Many of the theorists whose ideas we discuss believe that media play a central role in modern social orders or our daily
lives, Rather than presenting us with the types of empirical evidence favored by post positivists, they ask us to accept their
view of media influence using logic, argument, and our own powers of observation. Some describe compelling examples to
illustrate their arguments. Others offer empirical evidence for their belief in powerful media, but they use innovative
research methods, and so their work is challenged and questioned by post positivist researchers. During the 1970s and
1980s, supporters of the limited-effects perspective were especially troubled by the rise of cultural theories. They were
quick to question the evidence offered by cultural theorists. They saw cultural theories as new variations of mass society
theory-a theory they fell they had quite effectively debunked in the 19505 and 1960s. Limited-effects researches -
believed that cultural theories were too speculative and the empirical research generated from these theories was too
loosely structured.

Cultural studies and political economy theorists employ a broad range of research methods and theory-generation strategies,
including some that are unsystematic and selective. As a result, critics believe that personal biases and interests inevitably
motivate culture researchers and affect the outcome of their work, But, argue cultural theory's defenders, this is
acceptable as long as researchers openly acknowledge those biases or interests.

The techniques used by many critical or cultural researchers are often qualitative method, That is, they highlight essential
differences {distinctive qualities) in phenomena. Epistemologically, the creation and advancement of knowledge tends to
be accomplished through discourse (debate and discussion) involving proponents of contrasting or opposing theoretical
positions. Theory is advanced through the formation of schools of thought in which there is consensus about the validity of a
specific body of theory. Often rival schools of theory emerge to challenge existing theories while developing and defending
their own. Proof of a theory’s power often rests in its ability to attract adherents and be defended against attacks from
opponents.

Not surprisingly, researchers who adopt a post positivist approach find cultural theeories hard to accept. They are skeptical of
theories evaluated more through discourse than through empirical research. Post positivist media researchers place far less
stress on theory development or criticism. Their research methods are used to generate theory and to test theory rather
than as a means of making qualitative differentiations. They argue that if empirical research is conducted according to
prevailing standards, findings can be readily accepted throughout the research community, If other researchers doubt the
validity of specific findings, they can replicate (duplicate) the research and then report conflicting findings. But in truth,
these conflicting reports are quite rare and provoke considerable controversy when they are published. Though there is
verbal debate between those who espouse conflicting empirically based theories, these disagreements rarely appear in
print. When they do, both sides present empirical findings to support their positions. Arguments often center on
methodological disputes about the reliability and validity of research findings rather than the strength of the theoretical
propositions-researchers disagree about whether appropriate methods were used, question the application of specific
methods, or argue that the data were improperly analyzed. Much less attention is given to the structure and consistency of
theoretical propositions. When theory is developed, it takes the form of middle-range theory-theory that summarizes sets of
empirical generalizations and doesn't make strong assertions or assumptions about the role of media.
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How do the Positivists describe cultural theories?

(1)
(2)
(3)
(4)

Mon - effective
Mot evidence - based
Argumentative

Conjecture and loosely constructed
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(1)
(2)
3
(4)

[Question ID = 3030][Question Description = Q92_MassComJourn_SHAAN_20NOV21_S51_Shift2]
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[Option ID = 11585]

4, 4

[Option ID = 11586]
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3) Read the passage carefully and answer the question that follow:

Many of the theorists whose ideas we discuss believe that media play a central role in modern social orders or our daily
lives. Rather than presenting us with the types of empirical evidence favored by post positivists, they ask us to accept their
view of media influence using logic, argument, and our own powers of observation, Some describe compelling examples to
illustrate their arguments. Others offer empirical evidence for their belief in powerful media, but they use innovative
research methods, and so their work is challenged and questioned by post positivist researchers. During the 1970s and
1980s, supporters of the limited-effects perspective were especially troubled by the rise of cultural theories. They were
quick to guestion the evidence offered by cultural theorists. They saw cultural theories as new variations of mass society
theory-a theory they fell they had quite effectively debunked in the 1950s and 1960s. Limited-effects researches -
believed that cultural theories were too speculative and the empirical research generated from these theories was too
loosely structured,

Cultural studies and political economy theorists employ a broad range of research methods and theory-generation strategies,
including some that are unsystematic and selective. As a result, critics believe that personal biases and interests inevitably
motivate culture researchers and affect the outcome of their work. But, argue cultural theory's defenders, this is
acceptable as long as researchers openly acknowledge those biases or interests.

The techniqgues used by many critical or cultural researchers are often qualitative method. That is, they highlight essential
differences (distinctive qualities) in phenomena. Epistemologically, the creation and advancement of knowledge tends to
be accomplished through discourse (debate and discussion) involving proponents of contrasting or opposing theoretical
positions, Theory is advanced through the formation of schools of thought in which there is consensus about the validity of a
specific body of theory. Often rival schools of theory emerge to challenge existing theories while developing and defending
their own, Proof of a theory’s power often rests in its ability to attract adherents and be defended against attacks from
opponents,

Not surprisingly, researchers who adopt a post positivist approach find cultural theories hard to accept. They are skeptical of
theories evaluated more through discourse than through empirical research. Post positivist media researchers place far less
stress on theory development or criticism. Their research methods are used to generate theory and to test theory rather
than as a means of making qualitative differentiations. They argue that if empirical research is conducted according to
prevailing standards, findings can be readily accepted throughout the research community. If other researchers doubt the
validity of specific findings, they can replicate (duplicate) the research and then report conflicting findings. But in truth,
these conflicting reports are quite rare and provoke considerable controversy when they are published. Though there is
verbal debate between those who espouse conflicting empirically based theories, these disagreements rarely appear in
print. When they do, both sides present empirical findings to support their positions. Arguments often center on
methodological disputes about the reliability and validity of research findings rather than the strength of the theoretical
propositions-researchers disagree about whether appropriate methods were used, question the application of specific
methods, or argue that the data were improperly analyzed. Much less attention is given to the structure and consistency of
theoretical propositions, When theory is developed, it takes the form of middle-range theory-theory that summarizes sets of
empirical generalizations and doesn’t make strong assertions or assumptions about the role of media.
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What suggestion do the defenders give, as a support, to the researchers of cultural studies?
(N Advise them to declare their biasness
(2) Attack the post positivists
(3) Follow the methods of the post positivists

(4) Reject the criticism of the post positivists
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[Question ID = 3031][Question Description = Q93_MassComJourn_SHAAN_20NOV21_51_5Shift2]
1. 1

[Option ID = 11587]
2, 2

[Option ID = 11588]
3.3

[Option ID = 11589]
4, 4

[Option ID = 11590]

4) Read the passage carefully and answer the question that follow:

Many of the theorists whose ideas we discuss believe that media play a central role in modern social orders or our daily
lives. Rather than presenting us with the types of empirical evidence favored by post positivists, they ask us to accept their
view of media influence using logic, argument, and our own powers of observation, Some describe compelling examples to
illustrate their arguments. Others offer empirical evidence for their belief in powerful media, but they use innovative
research methods, and so their work is challenged and questioned by post positivist researchers. During the 1970s and
1980s, supporters of the limited-effects perspective were especially troubled by the rise of cultural theories. They were
quick to question the evidence offered by cultural theorists. They saw cultural theories as new variations of mass society
theory-a theory they fell they had quite effectively debunked in the 1950s and 1960s, Limited-effects researches -
believed that cultural theories were too speculative and the empirical research generated from these theories was too
loosely structured.
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Cultural studies and political economy theorists employ a broad range of research methods and theory-generation strategies,
including some that are unsystematic and selective. As a result, critics believe that personal biases and interests inevitably
motivate culture researchers and affect the outcome of their work. But, argue cultural theory's defenders, this is
acceptable as long as researchers openly acknowledge those biases or interests.

The techniques used by many critical or cultural researchers are often qualitative method. That is, they highlight essential
differences (distinctive qualities) in phenomena. Epistemologically, the creation and advancement of knowledge tends to
be accomplished through discourse (debate and discussion) involving proponents of contrasting or opposing theoretical
positions. Theory is advanced through the formation of schools of thought in which there is consensus about the validity of a
specific body of theory, Often rival schools of theory emerge to challenge existing theories while developing and defending
their own. Proof of a theory’s power often rests in its ability to attract adherents and be defended against attacks from
opponents,

Not surprisingly, researchers who adopt a post positivist approach find cultural theories hard to accept. They are skeptical of
theories evaluated more through discourse than through empirical research. Post positivist media researchers place far less
stress on theory development or criticism. Their research methods are used to generate theory and to test theory rather
than as a means of making qualitative differentiations. They argue that if empirical research is conducted according to
prevailing standards, findings can be readily accepted throughout the research community. If other researchers doubt the
validity of specific findings, they can replicate (duplicate) the research and then report conflicting findings. But in truth,
these conflicting reports are quite rare and provoke considerable controversy when they are published. Though there is
verbal debate between those who espouse conflicting empirically based theories, these disagreements rarely appear in
print, When they do, both sides present empirical findings to support their positions. Arguments often center on
methodological disputes about the reliability and validity of research findings rather than the strength of the theoretical
propositions-researchers disagree about whether appropriate methods were used, question the application of specific
methods, or argue that the data were improperly analyzed. Much less attention is given to the structure and consistency of
theoretical propositions. When theory is developed, it takes the form of middle-range theory-theory that summarizes sets of
empirical generalizations and doesn't make strong assertions or assumptions about the role of media.
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What is the primary purpose of the post positivists for conducting research studies?
(1) To negate cultural studies

(2) Build and evaluate theories

(3) Test the validity and reliability

(4) Force their views on other researchers
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[Question ID = 3032][Question Description = Q94_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1

[Option ID = 11591]
2.2

[Option ID = 11592]
3.3

[Option ID = 11593]
4. 4

[Option ID = 11594]
5) Read the passage carefully and answer the question that follow:

Many of the theorists whose ideas we discuss believe that media play a central role in modern social orders or our daily
lives, Rather than presenting us with the types of empirical evidence favored by post positivists, they ask us to accept their
view of media influence using logic, argument, and our own powers of observation. Some describe compelling examples to
illustrate their arguments. Others offer empirical evidence for their belief in powerful media, but they use innovative
research methods, and so their work is challenged and questioned by post positivist researchers. During the 1970s and
1980s, supporters of the limited-effects perspective were especially troubled by the rise of cultural theories, They were
quick to question the evidence offered by cultural theorists. They saw cultural theories as new variations of mass society
theory-a theory they fell they had quite effectively debunked in the 1950s and 1960s. Limited-effects researches -
believed that cultural theories were too speculative and the empirical research generated from these theories was too
loosely structured.

Cultural studies and political economy theorists employ a broad range of research methods and theory-generation strategies,
including some that are unsystematic and selective. As a result, critics believe that personal biases and interests inevitably
motivate culture researchers and affect the outcome of their work, But, argue cultural theory's defenders, this is
acceptable as long as researchers openly acknowledge those biases or interests.

The techniques used by many critical or cultural researchers are often qualitative method. That is, they highlight essential
differences (distinctive qualities) in phenomena. Epistemologically, the creation and advancement of knowledge tends to
be accomplished through discourse (debate and discussion) involving proponents of contrasting or opposing theoretical
positions. Theory is advanced through the formation of schools of thought in which there is consensus about the validity of a
specific body of theory. Often rival schools of theory emerge to challenge existing theories while developing and defending
their own. Proof of a theory’s power often rests in its ability to attract adherents and be defended against attacks from
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opponents.

Not surprisingly, researchers who adopt a post positivist approach find cultural theories hard to accept. They are skeptical of
theories evaluated more through discourse than through empirical research. Post positivist media researchers place far less
stress on theory development or criticism. Their research methods are used to generate theory and to test theory rather
than as a means of making qualitative differentiations. They argue that if empirical research is conducted according to
prevailing standards, findings can be readily accepted throughout the research community. If other researchers doubt the
validity of specific findings, they can replicate (duplicate) the research and then report conflicting findings. But in truth,
these conflicting reports are quite rare and provoke considerable controversy when they are published. Though there is
verbal debate between those who espouse conflicting empirically based theories, these disagreements rarely appear in
print. When they do, both sides present empirical findings to support their positions. Arguments often center on
methodological disputes about the reliability and validity of research findings rather than the strength of the theoretical
propositions-researchers disagree about whether appropriate methods were used, question the application of specific
methods, or argue that the data were improperly analyzed. Much less attention is given to the structure and consistency of
theoretical propositions. When theory is developed, it takes the form of middle-range theory-theory that summarizes sets of
empirical generalizations and doesn't make strong assertions or assumptions about the role of media.
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How do the cultural theorists propound new theories and advance knowledge?
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(1) Indifferent to any criticism
(2) Attack the past theories
(3) Identify specific characteristics of an issue through arguments

(4) Write their opinion elaborately

arepfas frgiasr fe yer v gl 1 yfaae s 77 &1 379a #5872

(1) d ATAEA % Yl IgRE & 8l

(2  d oz fag@i i s 3 2
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[Question ID = 3033][Question Description = Q95_MassComJourn_SHAAN_20NOV21_51_Shift2]
1.1

[Option ID = 11595]
2. 2

[Option ID = 11596]
3.3

[Option ID = 11597]
4. 4

[Option ID = 11598]

Topic:- 63MassComJdourn_C

1) Read the passage carefully and answer the question that follow:

The consumer can respond to an advertisement as an isolated stimulus, and different communications vehicles enable the
manufacturer to focus communication in a tailor-made way for each medium and even for each vehicle. However, the
consumer's response is also affected by a gestalt, the sum of many communications about the brand-for example, by what
he or she knows of it, where it is sold, who uses it, and how it is promoted to the trade and the consumer. Most important,
there is an implicit communication about the brand in the advertising company it keeps, in the media and media vehicles in
which it appears; to a large extent, the medium is indeed the message. Yet dissonance of all types is only too common in
the real world.

An automobile advertisement tries to persuade us that the brand is now better built and more reliable than ever before; at
the same time, the advertisement offers a massive price rebate, as if to demonstrate that the manufacturer does not
believe its own quality claims. Another car advertisement, for an exceedingly traditional make of automobile with dated
styling, tries to persuade younger buyers that the car is now for them-simply by saying that it is now for them. A highly
exclusive brand focused on the upper end of its market runs advertisements on prime-time network television, shoulder to
shoulder with the most undiscriminating mass-market brands. A highly sophisticated product concept is promoted in
advertisements of stupefying banality. These instances are in no way exceptional. We can see these and similarly
disheartening examples on television virtually every evening.

When consumers are asked to describe the personalities of well-known banks and gasoline companies, these impressions turn
out to be uniformly negative. The implicit-but of course unintended-communications about these organizations (e.g.,
unfavorable mentions in the media) clearly influence consumers more than do the explicit, planned communications.

During the 1970s, a parable was circulated widely within the J. Walter Thompson agency and presented engagingly by
Jeremy Bullmore, then head of the agency’s London office-a parable that illustrates vividly the meaning of communications

gestalt.
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What do the advertisements do in addition to influencing the target consumers?

(N Separate message for each consumer

(2) Send many isclated messages to all consumers

(3) Separate vehicle from media

(4) Provide subtle messages about brand, media and programmes

wfea Iudiemal & Tfad w9 &% sifofea fasmm =0 we w@ €7
(D) I T HEw e -3er S
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[Question ID = 3034][Question Description = Q96_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11599]
Z. 2

[Option ID = 11600]
3. 3

[Option ID = 11601]
4, 4

[Option ID = 11602]

2) Read the passage carefully and answer the question that follow:
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The consumer can respond to an advertisement as an isolated stimulus, and different communications vehicles enable the
manufacturer to focus communication in a tailor-made way for each medium and even for each vehicle. However, the
consumer's response is also affected by a gestalt, the sum of many communications about the brand-for example, by what
he or she knows of it, where it is sold, who uses it, and how it is promoted to the trade and the consumer. Most important,
there is an implicit communication about the brand in the advertising company it keeps, in the media and media vehicles in
which it appears; to a large extent, the medium is indeed the message. Yet dissonance of all types is only too common in
the real world.

An automobile advertisement tries to persuade us that the brand is now better built and more reliable than ever before; at
the same time, the advertisement offers a massive price rebate, as if to demonstrate that the manufacturer does not
believe its own quality claims. Another car advertisement, for an exceedingly traditional make of automobile with dated
styling, tries to persuade younger buyers that the car is now for them-simply by saying that it is now for them. A highly
exclusive brand focused on the upper end of its market runs advertisements on prime-time network television, shoulder to
shoulder with the most undiscriminating mass-market brands. A highly sophisticated product concept is promoted in
advertisements of stupefying banality. These instances are in no way exceptional. We can see these and similarly
disheartening examples on television virtually every evening.

When consumers are asked to describe the personalities of well-known banks and gasoline companies, these impressions turn
out to be uniformly negative. The implicit-but of course unintended-communications about these organizations (e.g.,
unfavorable mentions in the media) clearly influence consumers more than do the explicit, planned communications.

During the 1970s, a parable was circulated widely within the J. Walter Thompson agency and presented engagingly by
Jeremy Bullmore, then head of the agency’s London office-a parable that illustrates vividly the meaning of communications
gestalt.
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Why is dissonance prevalent among the consumers?
(1) Wrong messages about prices

(2) Wrong messages about product

(3) Medium’s unsuitability

(4) Exposition to contrary messages in advertisements

JouiEan 0 fawarfea =i y=fem 22
(1)  Hodl % foey § g e
(2 3R % favg § ted Hew

(3  wrEAn i I
(@)  Tagei 4 faclia g ® ayE B9

[Question ID = 3035][Question Description = Q97_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1

[Option ID = 11603]
2. 2

[Option ID = 11604]
3.3

[Option ID = 11605]
4. 4

[Option ID = 11606]

3) Read the passage carefully and answer the question that follow:

The consumer can respond to an advertisement as an isolated stimulus, and different communications vehicles enable the
manufacturer to focus communication in a tailor-made way for each medium and even for each vehicle. However, the
consumer's response is also affected by a gestalt, the sum of many communications about the brand-for example, by what
he or she knows of it, where it is sold, who uses it, and how it is promoted to the trade and the consumer. Most important,
there is an implicit communication about the brand in the advertising company it keeps, in the media and media vehicles in
which it appears; to a large extent, the medium is indeed the message. Yet dissonance of all types is only too common in
the real world.

An automobile advertisement tries to persuade us that the brand is now better built and more reliable than ever before; at
the same time, the advertisement offers a massive price rebate, as if to demonstrate that the manufacturer does not
believe its own quality claims. Another car advertisement, for an exceedingly traditional make of automobile with dated
styling, tries to persuade younger buyers that the car is now for them-simply by saying that it is now for them. A highly
exclusive brand focused on the upper end of its market runs advertisements on prime-time network television, shoulder to
shoulder with the most undiscriminating mass-market brands. A highly sophisticated product concept is promoted in
advertisements of stupefying banality. These instances are in no way exceptional. We can see these and similarly
disheartening examples on television virtually every evening,

When consumers are asked to describe the personalities of well-known banks and gasoline companies, these impressions turn
out to be uniformly negative. The implicit-but of course unintended-communications about these organizations (e.g.,
unfavorable mentions in the media) clearly influence consumers more than do the explicit, planned communications.

During the 1970s, a parable was circulated widely within the J. Walter Thompson agency and presented engagingly by
Jeremy Bullmore, then head of the agency's London office-a parable that illustrates vividly the meaning of communications

gestalt.
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What was the inner message of the first advertisement narrated in the passage?
(N The manufacturer did not believe what that advertisement said

(2) The automobile in strongly built

(3) The discount on the price is good

(4) The new vehicle is unique

ey § affa ugel fasmam w1 Fifga wew o an?
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[Question ID = 3036][Question Description = Q98_MassComJourn_SHAAN_20NOV21_51_Shift2]
1. 1

[Option ID = 11607]
.2

[Option ID = 11608]
353

[Option ID = 11609]
4, 4

[Option ID = 11610]

4) Read the passage carefully and answer the question that follow:

The consumer can respond to an advertisement as an isolated stimulus, and different communications vehicles enable the
manufacturer to focus communication in a tailor-made way for each medium and even for each vehicle. However, the
consumer's response is also affected by a gestalt, the sum of many communications about the brand-for example, by what
he or she knows of it, where it is sold, who uses it, and how it is promoted to the trade and the consumer. Most important,
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there is an implicit communication about the brand in the advertising company it keeps, in the media and media vehicles in
which it appears; to a large extent, the medium is indeed the message, Yet dissonance of all types is only too common in
the real world.

An automobile advertisement tries to persuade us that the brand is now better built and more reliable than ever before; at
the same time, the advertisement offers a massive price rebate, as if to demonstrate that the manufacturer does not
believe its own quality claims. Another car advertisement, for an exceedingly traditional make of automobile with dated
styling, tries to persuade younger buyers that the car is now for them-simply by saying that it is now for them. A highly
exclusive brand focused on the upper end of its market runs advertisements on prime-time network television, shoulder to
shoulder with the most undiscriminating mass-market brands. A highly sophisticated product concept is promoted in
advertisements of stupefying banality. These instances are in no way exceptional. We can see these and similarly
disheartening examples on television virtually every evening,

When consumers are asked to describe the personalities of well-known banks and gasoline companies, these impressions turn
out to be uniformly negative. The implicit-but of course unintended-communications about these organizations (e.g.,
unfavorable mentions in the media) clearly influence consumers more than do the explicit, planned communications.

During the 1970s, a parable was circulated widely within the J. Walter Thompson agency and presented engagingly by
Jeremy Bullmore, then head of the agency's London office-a parable that illustrates vividly the meaning of communications
gestalt.
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How do the media organizations devalue the advertisements they present?

(N By charging for advertisements
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(2) By permitting different brands to advertise simultaneously
(3) By presenting negative news about the organisation sponsoring the advertisement
(4) By not having separate time slots
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[Question ID = 3037][Question Description = Q99_MassComJourn_SHAAN_20NOV21_S1_Shift2]
1. 1

[Option ID = 11611]
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[Option ID = 11612]
3. 3

[Option ID = 11613]
4, 4

[Option ID = 11614]
%) Read the passage carefully and answer the question that follow:

The consumer can respond to an advertisement as an isolated stimulus, and different communications vehicles enable the
manufacturer to focus communication in a tailor-made way for each medium and even for each vehicle. However, the
consumer's response is also affected by a gestalt, the sum of many communications about the brand-for example, by what
he or she knows of it, where it is sold, who uses it, and how it is promoted to the trade and the consumer. Most important,
there is an implicit communication about the brand in the advertising company it keeps, in the media and media vehicles in
which it appears; to a large extent, the medium is indeed the message. Yet dissonance of all types is only too common in
the real world.

An automobile advertisement tries to persuade us that the brand is now better built and more reliable than ever before; at
the same time, the advertisement offers a massive price rebate, as if to demonstrate that the manufacturer does not
believe its own quality claims. Another car advertisement, for an exceedingly traditional make of automobile with dated
styling, tries to persuade younger buyers that the car is now for them-simply by saying that it is now for them, A highly
exclusive brand focused on the upper end of its market runs advertisements on prime-time network television, shoulder to
shoulder with the most undiscriminating mass-market brands. A highly sophisticated product concept is promoted in
advertisements of stupefying banality. These instances are in no way exceptional. We can see these and similarly
disheartening examples on television virtually every evening.

When consumers are asked to describe the personalities of well-known banks and gasoline companies, these impressions turn
out to be uniformly negative. The implicit-but of course unintended-communications about these organizations (e.g.,
unfavorable mentions in the media) clearly influence consumers more than do the explicit, planned communications.

During the 1970s, a parable was circulated widely within the J. Walter Thompson agency and presented engagingly by
Jeremy Bullmore, then head of the agency’s London office-a parable that illustrates vividly the meaning of communications
gestalt.
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Fafifaa - fhg st -dew (S8 ffesm § wfaga ==i) =1 afms wma vga 2

1970 & o9 B .3l uinen widt & o7 woh e #on &1 forga w=i gt oft st oot %
e R % Rt YTE SRl gEIR AEYE T W 3 W 1 ¥ - TR FU A G S
(r2Te2) % A I WE-HE gl B

What is communication gestalt?

(1) The qualities of an advertisement

(2) Impression made by all the advertisements and communication about a product
(3) Combination of components in a programme

(4) Time - frame when all ads are telecast in a programme,

YR g (TREEE) & 8 7

(1) T fagmm & o

@ Tl 3ane o it fasrEi o §=9R | 9e 9l By

(3) Tl riEw o wewl & T

(4) 98 gya-dm 59 el s & mft fageEr s mer 2 2)

[Question ID = 3038][Question Description = Q100_MassComJourn_SHAAN_20NOV21_S1_Shift2]
s et

[Option ID = 11615]
1)

[Option ID = 11616]
3. 3

[Option ID = 11617]
4. 4

[Option ID = 11618]

Topic:- GP_Set2_C
1) Read the passage carefully and answer the guestion that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’, India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore, The Ramayan culture is visible all across South East Asia,

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
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the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linked the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions, The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -

Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various

layers of society is considerable.

Frerifia T R gy S A R o A s ;

qra, @, I, T, dm-ge, i, Fee-wa, saem-agh, T o somea & e %
ToE 9% WUSH H W TF 3 [ @6thd B9 § “WHd WiEha® faOwaT % ¥4 5 WE S 3| adi s %
=i % few ura i owplos faome don W o'k )y A gl g s -gd-fien % e
UFaE ARE-EH, GHI aEt S % R el Al i et & |1 w & % e A
Sfe-vgid T wHna W andE fauea = gva-waE 2| g gd A e ser-faawa, agan, = i
Srefierdt & ufd el e ud g A 2
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m%%%%mham%%eag%m,m-mﬂﬁaﬁtm—ﬁﬁ%%mm 98 T4 H I
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India’s cultural diplomacy is centered around

(A) Ramayan

(B) Multilateral engagements

(C) Business Promotion

(D) People to people contacts

Choose the correct answer from the options given below :
(1) {(A) and (D) only (2} (A), (C) and (D) only

(3) (B), (C) and (D) only (4) (B) and (D) only
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a1 e g e 2,

(A)  THE
(B) wgEada- sy
(C) =AIR-HaH
(D) =fes Tk

Fr= o o foreqt § © = ST W 9 i

(1) =FEd (A) 3R D)
(2)  =&ad (A), (C) 3R (D)
(3) == (B). (C) ¥R (D)

(4)  Fa (B) 3 (D)

[Question ID = 3557][Question Description = Q46_GP_20NOY_S2_SHAAN_Shift2]
1.1

[Option ID = 13691]
1)

[Option ID = 13692]
3,53

[Option ID = 13693]
4. 4

[Option ID = 13694]

2) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage™. India’s cultural heritage is a
source of inspiration to people everywhere, India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity,
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The commeon culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration, Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi, Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable,
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The common thread binding India and South East Asian Countries is/are
(A) Buddist tenets
(B) Yoga
(€) Cricket
(D} Ramavyan
(E) Sanskrit
Choose the correct answer from the options given below :
(1) (A) only  (2) (A), (B}, (C} and (D) only
(3) (A) and (D) only (4) (A), (B}, (D) and (E) only
AT TF - % 9 G- - 2
&) g
® =M
(C) Tomme
D) TaEm
(E) wepHd
3 fiw v foerewl § o WE UK W W S

()  Fae (A) (2)  FFE (A). (B), (C) 3 (D)
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(3)  "hael (&) HR (D) (4)  =hdel (A), (B) ST (E)

[Question ID = 3558][Question Description = Q47_GP_20M0V_52 SHAAN_Shift2]
1. 1 [Option ID = 13695]
2. 2 [Option ID = 13696]
3. 3 [Option ID = 13697]
4. 4 [Option ID = 13698]

3) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore, The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.,
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people te common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions, The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Which of the following is not reflective of India’s soft power status?
(1) Digital India (2) Skill India

(3) Business Promotion (4) Yoga Diplomacy

frafafaa # ¥ %R ywa #it 95 afw-feafa = veitia T8 = 27
(1)  TSke= gfem @) FuA T
(3) =IR-TEE (4) =Am-FEif

[Question ID = 3559][Question Description = Q48_GP_20NOV_S2_SHAAN_Shift2]
. 1 [Option ID = 13699]
2 [Option ID = 13700
. 3 [Option ID = 13701]
. 4 [Option ID = 13702]

o e =

4) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere, India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The commeon culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration, Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Cultural exchanges amongst the member nations of the Shanghai Cooperation Organisation are in the following fields :
(A) Archeology

(B) Folklore

(€) Tourism

(D) Yoga

(E) Education

Choose the correct answer from the options given below :

(1) (A}, (C), (D} and (E) only  (2) (A), (B), (C) and (E} only

(3) (A), (B) and (E) only (4} (B), (C), (D) and (E) only

T - ATAIZSITE % TGeA <0l o1 WERTa eH-YaH - & 5 37

(A)  Jua™
(B) <im-wifzex
(C) =z
(D) A
(E) T

4 fau e foepedl O @ wdt 3O =i == whifeg

1)  FEE (A), (C), (D) 3R (E) (2) Fae (A), (B), (C) 31 (E)
(8) = (A), (B) R (E) (4) =& (B). (C). (D) 3kt (E)

[Question ID = 3560][Question Description = Q49_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13703]
2. 2 [Option ID = 13704]
3, 3 [Option ID = 13705]
4. 4 [Option ID = 13706)

%) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage™. India's cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity,
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration, Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.
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India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -

Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various

layers of society is considerable.
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The passage highlights

(1) The emergence of India as a super power

(2) The role of culture for peace and harmonious relations with other countries
(3) India’s cultural hegemony

(4) India’s relations with BRICS countries

T T HET FeA

(1) A 1 AEWI & ¥4 § A

(2) = TE b WY Wi A WERYY T gg SR 1 Y

(3)  uRA Hi WieHaH AEdl

(4)  WRd 1 fgam 20 & Wy gvsy
[Question ID = 3561][Question Description = Q50_GP_20NOVY_S2_SHAAN_Shift2]
1 [Option ID = 13707]
2 [Option ID = 13708

]
3 [Option ID = 13709]
4 [Option ID = 13710]

oW =
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Topic:- GP_Set2_A

1) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together 1s 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
August 22% 4:5
September 25% 3:2
October 8% ¥:b
November 12% 7:8
December 16% ¥ 8

Freifpa aifersr =1 e O e oo we faghar < g0 e 2019 o fRgrax 2019 % s o ff o
% forqmor Y wfeerar qor HP 3k DELL w=aft < aaH sty | fasfia Bl @t % g =1 sgaa
g T 21 o st A fosfia mdt Sl sl B g deEn 45,000 (Yarfam EER) 21 arfee | fao
IS = ST 9 99T =51 I 4

Ftt Tt = T -Tasa = e

qre =it @vERl = o
o =i ufawaar HP a1
DELL =
PIGEIGG
TS 17% 8:7
STE 929% 4:5
faarR 25% 3:2
TR 3% Th
T 12% 7:8
femm=m 16% 7:9

What is the ratio of the number of PCs sold of Company DELL during July to those sold during December of the same
company?

(1) 119 : 145 (2) 116 : 135

(3) 119 : 135 (4) 119: 130

DELL %9+t % gR1 JoiE &R fGars 4 s= ™ FifS gt =it g 1 ogua #n 27

(1)  119: 145 @) 116:135
(3 119:135 4 119:130

[Question ID = 3562][Question Description = Q01_GP_20NOY_S2_SHAAN_Shift2]
1. 1 [Option ID = 13711]
2. 2 [Option ID = 13712]
3. 3 [Option ID = 13713]
4. 4 [Opticn ID = 13714]

2) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data

rentained 1n the fahla anamrar the rnactian
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Freifpa afers =1 s o 2@ oo o faekar < g0 s 2019 o gt 2019 9% s e fsht o
% ferawor it yfewaar qan HP 2t DELL #=f¥=i = gue 2aty § faghia Bl gt % «ffg =1 smua
a=rrn T 31 gEt s A foefa wdt sl @t B Fe e 45,000 (darfaa g9R) 21 aifes § 2o e

Distrbution o of PCs
Month Sale of PCs
Percentage (%) Ratio of
Dastribution HP to DELL

July 17% 8:7
August 22% 4:5
September 25% 3:2
October 8% 150
November 12% 7:8
December 16% 7:9

ITTHS = YR T A7 T S]H S

fstt TRt ==t wifeen-Tawa w1 fam

foraror =6 i HP =it

DELL #i

PIGERGI
Rl 17% 8:7
T 22% 4:5
faamsr 25% 3:2
FTFZS 8% 7:5
ECLTS 12% 7:8
feamaw 16% 7:9

prepp
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If 35% of the PCs sold by Company HP during November were sold at a discount, then how many PCs of Company HP during

that month were sold without a discount?

(1) 882  (2) 1635
(3) 1638  (4) 885

PR FgTsR W HP %09 o 35% el woors g W e at 3d wae § HP et % fee BR g

form 2 % 99 Tt
(1) 882
(3) 1638

(2) 1635
(4) 885

[Question ID = 3563][Question Description = Q02_GP_20NOV_52_SHAAN_Shift2]

1. 1 [Option ID = 13715]
2. 2 [Option ID = 13716]
3. 3 [Option ID = 13717]
4. 4 [Option ID = 13718]

3) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data

contained in the table, answer the question
Month-wise Distribution of Sale of PCs

Sale of PCs

Month

Percentage (%)
Dastribution

Ratio of
HP to DELL
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Freifpa aifers =1 s o 2 oo o faghar < g0 S 2019 o fRgrax 2019 % == e Ff g
= feraor it gfawmar qon HP =it DELL s=ufa=t = gom safé 1 ffia B aomeet = g =1 sque
Zerrn T 21 gE st A fosfa wdt Fsl ot B Fe e 45,000 (darfaa g9R) 21 @ifee § 2o e

July 17% 8:7
August 22% 4:5
September 25% 3:2
October 8% D
November 12% 7:8
December 16% 7:9

ITHE & YU T AT &1 SR S

fistt TRt =t wifeE- o w1 fa

fereror 1 wiferraan HP =i

DELL #i

PIGEGGH

Bl 17% 8:7
I 22% 4:5
T 25% 3:2
FFZS 8% 75
TSR, 12% 7:8
fems 16% 7:9

prepp
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If the dealer earned a profit of Rs, 433 on each PC sold of Company DELL during October, then what was his total profit
earned on the PCs of that company during the same month?
(1) 6,49,900 (2) 6,45,900
(3) 6,49,400 (4) 6,49,500

IR et R DELL %t & fasean o wess Al @oors W &, 433 =1 @ Win Be 9 39 9ee

7 foskar =i o e firen ?

(1) ¥ 6.49,000
(3) ¥ 6,49,400

(2) T6,45,900
4) 6,49.500

[Question ID = 3564][Question Description = Q03_GP_20M0V_52 SHAAN_Shift2]

1. 1 [Option ID = 13719]
2. 2 [Option ID = 13720
3. 3 [Option ID = 13721]
4. 4 [Option ID = 13722]

4) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together 1s 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
August 22% 4:5
September 25% 3:2
October 8% T8
November 12% 7:8
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| December

16%

Freifpa aifers =1 e o 2 oo we fagear < g0 S 2019 o fRgrax 2019 % s e el g
% ferawor it wfaeraar qoar HP it DELL %=ttt & aum safy § fafig it @t % g =1 s
gz 7 3| gt st A fhig @t Pl ol B e @oE 45,000 (Yarfee ger) 21 @it 3 fi o

ITTFHE = YU T AT T SR S

st TRt =t mifeE-Taws w1 fa

foraror =6t i HP 2t

DELL #i

PIGERG

Sl 17% 8:7
T 22% 4:5
faamsr 25% 3:2
FTFZS 8% 7:5
ECS 12% 7:8
feamw 16% 7:9

prepp
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The number of PCs sold of Company HP during July is approximately what percent (%) of the number of PCs sold of Company

HP during December?
(1) 110% (2) 140%
(3) 150% (4) 130%

FE % HEH § HP %0 % g s e el oot i wen fooem % wEie O HP #5 % gm se e

=l gt it G w1 e afaea 20
(1) 110%
(3) 150%

(Z) 140%
(4) 130%

[Question ID = 3565][Question Description = Q04_GP_20NOVY_S2_SHAAN_Shift2]

. 1 [Option ID = 13723]
2 [Option ID = 13724]
3 [Option ID = 13725]
. 4 [Option ID = 13726]

oW

) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together 1s 45000. Based on the data

contained in the table, answer the question

Month-wise Dhistribution of Sale of PCs
Month Sale of PCs
Percentage (%) Ratio of
Dastribution HP to DELL

July 17% BT
August 22% 4:5
September 25% 3:2
October 8% e
November 12% 7:8
December 16% 7:9

Freifpa afers =1 s o 2d o o fakar < g0 s 2019 o gt 2019 9% s e feht o
= feraoor &t ufde@mar aar HP 2t DELIL e = goq aata o Tda 5 omomst % = =1 s9ae
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Zarean T 2| gt s A g @it Pl ot R e weE 45,000 (ﬁm%am)%lm‘t%mﬁﬁ;m

ITTHE = YU T AT T S| S

fistt TRt =t mifeEn-Taws w1 fa

g el worRl 5 T
feraror =6 wfcera HP =it
DELL #i
PIGERGI
Bl 17% 8:7
T 22% 4:5
faamsr 25% 3:2
FTFZS 8% 7:5
e 12% 7:8
fgamam 16% 7:9

What is the total number of PCs sold by Company DELL during August and September together?
(1) 10000 (2) 15000
(3) 10500 (4) 9500

s ug Toerst g1 w2 3 DELL “veui % grT o9 119, et 14l Sorenl <61 dien 9o 27

(1) 10000 (2) 15000

(3) 10500 (4y 9500

[Question ID = 3566][Question Description = Q05_GP_20N0OV_52_SHAAN_Shift2]
11

[Option ID = 13727]
2. 2

[Option ID = 13728)]
e

[Option ID = 13729]
4. 4

[Option ID = 13730]

Topic:- GP_Set2_B
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1) In which level of teaching promotion of critical thinking is the hall mark?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

firequr & e TR W ST fama & S99 i Ta98 T9 Sl 2 7

() (2) IFE" T
(3) forefi-fa=m == (4) Tamw oM @

[Question ID = 3567][Question Description = Q06_GP_20M0V_52 SHAAN_Shift2]
. 1 [Option ID = 13731]
2 [Option ID = 13732]
. 3 [Option ID = 13733]
. 4 [Option ID = 13734]

bl D —

2) The key behaviour of an effective teacher is marked by which of the following features? (A) Structuring (B) Teacher
task orientation (C) Instructional Variety (D) Lesson clarity (E) Probing Choose the correct answer from the options given

below :

(1) (A), (B) and (C)only (2} (A), (C) and (D) only
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" (3) (B), (C) and (D) only {4) (C), (D) and (E) only

fretafiga fafSrearert & @ 47 a1 =ragn yarh feas = v o 27

(A) T

(B) Trers-wr -t

(© gem fafaum

(D) wE-vrEdam

(E) wmaw

Arer fa e ] J W wE) Sw w1 A Hif
(1) == (A). (B) 3O

2 ¥ (4), (C) 3R (D)

(3 %= (B), (C) R D)

4 & (C), (D) 3i (E)

[Question ID = 3568][Question Description = Q07_GP_20N0OV_52_SHAAN_Shift2]
1. 1

[Option ID = 13735]
2. 2

[Option ID = 13736]
3 3

[Option ID = 13737]
4. 4

[Option ID = 13738)

3) Match List | with List |l gives their characteristic features.

List | List 11

(Modes of Evaluation) (Characteristic Features)

(A) Formative Evaluation (I} Compares one student with another student

(B) Summative Evaluation (ll) Compares the progress of a student against prespecified standards

(C) Criterion-referenced Evaluation (lll) Used primarily for motivational and monitoring purposes of learning
(D) Norm-referenced Evaluation (IV) Used primarily for gradation of progress made

Choose the correct answer from the options given below :

(1) (A}-(IV), (B)-(I1), (C)-(1), (D}-(11) (2} (A)-(Il), (B)-(IV}, (C)-(II), (D)-(1)

(3) (A)y-(I), (B)-(N), (C)-(IM), (D)-(IV)  (4) (A)=(l}, (B)-(N), (C)-(IV), (D}-(IIN)

g1 % ot ef-IT 1 forer <Biform) o et mern o foftm wgfedl oY 2, o qudt o v i
woon 3| g1 wd g1 o faer ol

-1 =111
TEATFA-TgH Il E ol
(A) Tmivreas gear @ s faemf H g fnsfi @ gomn s 2
(B) TheHTCH® GoATehA I wr fgeefil H gonm @ Fufa = @
-l 2|
(C) Tipa wefiia weaieA (1) vuma: sfrm & arfigon g eHAaw %
ELAE R
(D) WA TEifa gears (IV) wuma: Fumm wfe 5 iefeeor 2g W
T 31

Hie B 7o ool 8 @ w0 3ot @ e Hifvo

1) @-Av). B-dIDh. (O-D). (D)-dD)
2  (A-AID. B)-aV). (CO-AD. (D)-(D
@)  @A-dDh. @)-d@). (O)-d1l). (D)-IV)

prepp
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(4) (A)-(1). (B)-(11), (C)-(1V), (D)-(111)

[Question ID = 3569][Question Description = Q08_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13739]
2. 2 [Option ID = 13740]
3. 3 [Option ID = 13741]
4. 4 [Option ID = 13742]

4) Given below are two statements :

Statement | : One of the basic principles of progressive view of teaching is that education should be life itself rather than a
preparation for living.

Statement Il : According to reconstructionist view of education the new social order must be ‘genuinely democratic’.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement |l is false, (4) Statement | is false but Statement Il is true.

Rasmfems:

%9 (@) : Toraror = wmft (yifeiier) Sfesion =1 oF wea fagra @ B fen Faw awfifye 6
Pt TE WAy A ST T ¥ wepet S aE )

9 (1D) : foren % yAfmoETd R g/ % oER =it i sreen fifTes =9 g gt
B =T

I YA = Al §, 9 Ru T famedl § A 98 3T 1 == it ;

(1) = (1) S A 2 7 2

(2 e Q) 3 I gl e |

(3 WA () w2, S w9 (I1) o0 2
(@) = () 39 2, dfF w5 (D g3 2

[Question ID = 3570][Question Description = Q09_GP_20M0V_S52 SHAAN_Shift2]
1. 1 [Option ID = 13743]
2. 2 [Option ID = 13744)]
3. 3 [Option ID = 13745]
4. 4 [Option ID = 13746]

5) Given below are two statements ; One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : ‘Teaching’ involves critical and creative interchanges between teacher and learner and hence it is different
from ‘instruction’ and ‘training’.

Reason (R) : Both ‘instruction’ and ‘training’ are directed at lower order cognitive interchanges.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both {(A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) {(A) is not correct but (R) is correct.

H= @ Fom fau 7w 2 ©F TR (Assertion A) % 9 ¥ fafigd ® 11 790 35 FRW (Reason R) &
w1 ;

FTFT (A) e, Qe @ afrmal & nw wiiaeTs @ wEEREs [ W oaEie
A1 2, 379 TE TR uE aaw ¥ fim

F (R) : “FERTE T G S & AEET SRR -UgH % e WROW iR gk 2l

IUUTH HUAT & A 7, i foy e fowment # 9 wsd 39w 3T o ==A fif

1) Q) ®) A wd E o R), Q) R ud e 2

@) (&) A (R) I T, SR R). (A) F e e E 2
@ Q)T 2, IR (R) T8 T2

@ (AT AR 2, dfF R) wE E

[Question ID = 3571][Question Description = Q10_GP_20NOV_52_SHAAN_Shift2]
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1 [Option ID = 13747]
2 [Option 1D = 13748]
3 [Option 1D = 13749]
4 [Option ID = 13750]

oL B

6) In which of the following researches, attempts are made to establish context-free generalizations?
(1) Phenomenology (2) Grounded theory
(3) Symbolic interactionism (4) Experimental Studies

freafafiaa siel § @ frad s q=fie 6 s 3 s fee srd 27
(1)  =A-373-Jara (2) omafa fagro
(3) U AR (4) TETIEHF A

[Question ID = 3572][Question Description = Q11_GP_20M0V_52 SHAAN_Shift2]
1. 1 [Option ID = 13751]
2. 2 [Option ID = 13752]
3. 3 [Option ID = 13753]
4, 4 [Option ID = 13754]

7) Identify the main features of ‘qualitative research’ from the following :

(A) It is concerned with understanding the phenomena from the participant’s perspective
(B) It assumes that there are social facts with a single objective reality

(C) Researcher becomes immersed in the situation, present or past

(D) Researcher is detached from the study to avoid bias

(E) There is greater flexibility in both the methods and research process

Choose the correct answer from the options given below :

(1) (A), (C) and (E) only (2) (A), (B) and (C) only

(3) (B}, (C) and (D) only (4) (C), (D) and (E) only

et <t it formtuanatt # @ onen e <6 ggwE W)

&) =g aferft & aftie § wew % ey @ grafg 21

(B) 3H¥ =g WA ST 2 Wi asa Fae wF aeghe o § 92 3 B
(©  wiensff adEm W1 YAt et 8 FET w3

(D) ool qeme ¥ w= % T ST I A R | g S Al
(B) s wonelt o wia-gfen aFi A e gar 2|

4 fou v edl 9 © WS ST w99 T

1) A @A), (€) 3R (B)
@ | A), B) 3R ()
(3) = (B), (C) iR (D)
@  %ada (C), (D) 3R (B)

[Question ID = 3573][Question Description = Q12_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13755]
2. 2 [Option ID = 13756]
3. 3 [Option ID = 13757]
4. 4 [Option ID = 13758]

8) Match List | with List Il :
List | List Il
Methods of research  Features emphasized
(A) Experimental (1) Primary and secondary sources tapped with emphasis on internal criticism
(B) ExPost Facto (ll) Status of facts and conditions are ascertained
(C) Descriptive  (lll)} A variable is manipulated to see its effect on other variable
(D) Historical (V) The differences are noted and factors causal or otherwise are determined
Choose the correct answer from the options given below ;
(1) (A)-(), (B)-(IN), (C)-(NN), (D)-(IV)  (2) (A)-(I1), (B)-(1), (C)-(IV), (D}-(lIN)
(3) (A)-(1IT}, (B)-(1¥), (C)-(IN), (D)-(1)  (4) (A)-(IV), (B)-(1lI}, (C}-(), (D)-(I1)
i1 < are w=ht-11 =t faem fifse
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eI TEAIT
oTiE agfeEr o7 oAt
(&)  TEATTE @) FIaftE FEICEAT T S S0 gE WTais o
et Eial =1 99Ew i 2
(B) ®HER A iRy w@ aen H Tk ghfvea
Eicife]
(©) =S (IIT) g@t =7 T v9E 3@ % foe oh = § R-
Tepan wra 21
(D) VideTias AV) T &1 gaw wd gu AT s w=
e GHfvaa Fre = 2|

+r=3 fou 7o e A @ o s W 9 i

(1) AD. B)-ID. (O)-(TD. D)-IV)
2)  (AAD. (B)-D). (O)-IV). (D)-dIL)
(3)  (A)-a1), (B)-IV). (C)-(ID. (D)-(I)
4  (A)-AV). B)-I), (C)-(D), (D)D)

[Question ID = 3574][Question Description = Q13_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13759]
2. 2 [Option ID = 13760]
3. 3 [Option ID = 13761]
4. 4 [Option ID = 13762]

9) Given below are two statements :

Statement | ;: Data analysis in research being a technical job, ‘research ethics’ does not matter.
Statement Il ; ICT is helpful almost at all stages of research.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement |l are true, (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement |l is false. (4) Statement | is false but Statement Il is true.

F (D) : FIEYF | Tea-faveiuer ©F qeichl B EH % BRU HEUH- SR S
eyl T 2
% (1I) : STAH % ST Yol =00 § 3178, 6121, GEren gt 2|

ITIT T & el |, 99 R 7o fawen 7 9 o s o 999 Hitsw

(1) = () 3 JdD) 3 g &
(2 = () 3t J@D) I HTem #
(3) = (I) 9cA &, il =9 (1) 319ed &

(4)  =wu (I) 3= 2, | e (D) §ed §

[Question ID = 3575][Question Description = Q14_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13763]
2. 2 [Option ID = 13764]
3. 3 [Option ID = 13765]
4. 4 [Option ID = 13766]

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R,

Assertion {A) : When Null Hypothesis (HO) is rejected, researcher’s hypothesis (H1) is accepted.

Reason (R) : Null Hypothesis (HO} is a chance hypothesis and as such (H1) being true, the researcher’s hypothesis lies in the
domain of acceptability.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
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the correct explanation of (A).
(3) (A) is correct but (R) is not correct, (4) (A) is not correct but (R} is correct,

=t @ e g e € : o aIfiEmuR (Assertion A) % ¥ # RaRad B A 500 30 HR9 (Reason R)

FIH :

st (A) - s feeofia aferes T (te) sRefipe = @ ol @ @ sIEaTal R afeRe
(w=11) whiegra &t St 2

T (R) : i afiwew (W) TF T 9iehed § 3T UE (TH) @ BH F HRO

SAGHFRAl 61 ufeheuAT whefa i afdy & s s )
YU YAl % ek 1, A fiw e foereat ¥ wey S I9C o =EA hifwu

1) (A IR®) I T E IR (R), () F 7f =wen 2

@) @R ®) A = E, SR ®). ) B owd e T R
3) (A= g, wFF (R) w8 76 2

@) Q@ R, f (R) @8 2

[Question ID = 3576][Question Description = Q15_GP_20M0V_52 SHAAN_Shift2]
1. 1 [Option ID = 13767]
2. 2 [Option ID = 13768]
3. 3 [Option ID = 13769]
4, 4 [Option ID = 13770]

11) Which of the following is an exclusive example of Non-verbal cue that includes the pitch, rate, volume and use of
pauses?

(1) Linear Model of Communication (2) Interactional Model
(3) Non-Verbal Cues (4) Para-Language

frafafaa § @ =9 e 9 o 3 Saew & e sw-eme (fm), & ('), 9 (atem)
it form (9i) @ w=m miae 27

(1) == g qiga (2) FAEE Tga
(3)  TpuiE Tha (4) TU T

[Question ID = 3577][Question Description = Q16_GP_20NOV_S2_SHAAN_Shift2]

1. 1 [Option ID = 13771]

2. 2 [Option ID = 13772]

3. 3 [Option ID = 13773]

4. 4 [Option ID = 13774]

12) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R,
Assertion (A) ! In the context of communication, the perceptual process creates, semantic-noise also called word-noise,
Reason (R) : The various meanings either cannotative or denotative are sources of semantic noise.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A),

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

I o7 Y fou e 2 ;v AU (Assertion A) F w9 ¥ foflem § @1 oo 0% FR (Reason R) #
A

SRR (A) TGN F TEH § STAUNUTNT UER Tiea® &AM Scaiea Fdl 2 ol Iiees -1k
(TS—ara=) F=d 3

T (R) : TN A1 aqad™ Sl = [a19= 51901 % G Aiees -7 21 21

STRE FUA % A 5, 1 f5e o el § ¥ 999 S99 SO B 99 e
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1) (A ¥R ®) @ TE E R (R). (A) i T = 2

(2) (A SR @) TA 2, S R), Q) B v e T 2

(3) (A wE g, A (R) wal & 2

@) (A T R, @ (R) w6 2

[Question ID = 3578][Question Description = Q17_GP_20N0OV_52_SHAAN_Shift2]

|

[Option ID = 13775]
7.3

[Option ID = 13776]
3 3

[Option ID = 13777]
4. 4

[Option ID = 13778)]

13) Given below are two statements :

Statement | ; Appropriate word choice is an essential of effective oral communication.

Statement Il : Facial expression and postures fall under visual communication.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement |l is false, (4) Statement | is false but Statement Il is true.

e s e s .

F5 (D) - Turel a1fees TS 2g WERE WGl 1 A AT B

b (1D : tifige are Ta Wi gya-aeme % a1 2

ITRF A & A 7, 919 2 v et 8 o @t s = e i

Q) = Q) R JD) 3 7 E
@  weE () D) 9F 2 §
3) = (D) A 2, < wem (1) e 2

(4) = (D) ey 2, S wue (D) w2

[Question ID = 3579][Question Description = Q18_GP_20N0OV_52_SHAAN_Shift2]
1 [Option ID = 13779]
2 [Optien ID = 13780]
3 [Option ID = 13781]
4 [Option ID = 13782]

oW R

14) Identify the barriers to communication from the list given below :
(A) Time and distance

(B) By-passed instructions

(C) Encoding of thoughts and ideas

(D) Decoding of thoughts and ideas

(E) Logical sequence

Choose the correct answer from the options given below :

(1) {A) and (B) only (2) (B) and (C) only

(3) (C) and (D)} only {4) (D) and (E) only

seitfeafian g & & @ B el B e -
&) = sigd
B) ufEa s

(s o= T fTEw = weEs =
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Ny, a2

(D) @i= = foew = e g wwn
(E) aifhe e

=t fau e el ® @ g IR R w9E R

(1) == () 3R (B)
(2 ¥ (B) 3R (C)
(3 ¥ (C) ARk (D)
4 = (D) 3N (B)

[Question ID = 3580][Question Description = Q19_GP_20M0V_52_ SHAAN_Shift2]
1. 1

[Option ID = 13783)
2. 2

[Option ID = 13784]
3.3

[Option ID = 13785]
4. 4

[Option ID = 13786]

15) Match List | with List Il ;

List | List Il

Types of Communication Main features

(A) Downward Communication (1) Grows primarily to meet organizational/member’s need for communication
(B) Upward Communication (ll) It forms a useful link in decision making for task coordination

(C) Horizontal Communication (lll) Provides management with feedback about current issues and problems
(D) Grapevine Communication (IV) It is the most common communication system in an organization

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(I1), (C)-(1V), (D)-(N1)  (2) (A)-(I1), (B)-(1), (C)-(NI), (D)-(IV)

(3) (A)-(I1}, (B)-(I¥), (C)-(1), (D)-(1)  (4) (A)-(IV), (B)-(llI}, (C)-(1I}, (D)-(1)

g1 % = git-11 7 frem =hifs
g1 T 11
TEEl % TR g fammaan
(A) TG FET () W% % weedl H woEv $i SAETEsal B
70 FA % foe ygE 9 wem B
(B) sufendt deiyor (A1) =e-gu=g ®g Fom &1 0w sggeh
HieqH =TT 2
(C) @faw aegam (II1) =awH fooat e et 6 ulegl & @
ST+ 2
(D)  Tq-FTST T (IV) Trdt ff gen w1 3% gd-um= gEigo
T 2l
4= fim T ewl § @ UE ST w1 = iR

(1)  A-D. B)-D), (CO)-IV), (D)-1IL)
2 @-ADh. B)-. (O-11D). (D)-AV)
3 @A), B)-aAV). (O-(1). O)-AD
@)  (A)-IV). (B)-dI), (C)-(1I), D)-(D

[Question ID = 3581][Question Description = Q20_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13787]
2. 2 [Option ID = 13788]
3. 3 [Option ID = 13789
4. 4 [Option ID = 13790]

16) If the cost price is 25% of selling price, then what is the profit percentage?
. (1) 100 (2) 200
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(3) 300 (4) 400
af wAqea, fasFagea =1 25% & a1 oy 6 i F4r 8 7

(1) 100 (2) 200
(3) 300 (4) 400

[Question ID = 3582][Question Description = Q21_GP_20M0V_52 SHAAN_Shift2]
. 1 [Option ID = 13791]
2 [Option ID = 13792]
3 [Option ID = 13793]
4 [Option ID = 13794]

bl D —

17) A seller mixes 26 kg rice of a price of Rs, 20/kg, with 30 kg of different variety rice of a price of Rs, 36/kg. He sells
both the mixed rices at Rs. 30/kg. What will be the profit in percentage?

(1) 5% (2) 10%

(3) 15% (4) 20%

wsh fohal 26 Brell smaer 5. 20/Fhell % 3w wly R sEd gm R B 30 Reel) T fien 2@ 2 B
354 & 360 % g W wlEr ar 9t 3@ v i gu wee W 30/fRe % @ W ST 31 S e

#t ufaeaar g1 TN 7
(1) 5% (2) 10%
(3) 15% (4) 20%

[Question ID = 3583][Question Description = Q22_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13795]
2. 2 [Option ID = 13796]
3. 3 [Option ID = 13797]
4. 4 [Option ID = 13798]

18) A milk man purchases milk at Rs, X per litre and sells it at Rs. 2X per litre, Still he mixes 2 litres of water with every 6
litre of pure milk. What is his profit percentage?

(1) 33.33 (2) 66.66

(3) 133.33 (4) 166.66

ww gru-fasea 5. X/ % @ W 39 wlg F 3. 2X/R F R W A= 2| dE6g 39 987 2 Sie gt
ST 6 TeX W 39 A fren Zan 2| ek e it i w7 27

(1) 33.33 (2) 66.66
(3) 133.33 (4) 166.66

[Question ID = 3584][Question Description = Q23_GP_20M0V_S52 SHAAN_Shift2]
. 1 [Option ID = 13799]
2 [Option ID = 13800]
. 3 [Option ID = 13801]
4 [Option 1D = 13802]

e it R

19) The average monthly income of P and Q is Rs. 5,050/-. The average montly income of Q and R is Rs. 6,250/- and that
of P and R is Rs, 5,200, What will be the monthly income of P?

(1) Rs. 3,000/- (2) Rs. 3,500/-

(3) Rs, 4,000/- (4) Rs., 4,500/-

P sift Q =1 sitga =ifirs w1 5050 ¥04 2, Q 3t R =Rt siiaa miftss 3119 6250 02 o P aiit R i

sitge w1t 319 5200 w93 2| P whi uiites 31 Frot gnfi

(1)  3.000/- T/ (2)  3.500/- T93

(3)  4.000/- 9= (4)  4,500/- 57y

[Question ID = 3585][Question Description = Q24_GP_20NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 13803]
2. 2 [Option ID = 13804]
3. 3 [Option ID = 13805]
4. 4 [Option ID = 13806)
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20) The average of 4 terms is 20, and the first term is 1/3rd of sum of the remaining 3 terms. What will be the value of

first term?
(1) 15  (2) 20
(3)25 (4) 30

4 FEAl F SftEa 20 & A7 ISl HEa T 3 e & AN H 1/3 2| USell HeA w1 u 9 8

(1)

(3)

15 2y 20

25 49 30

[Question ID = 3586][Question Description = Q25_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13807]
2. 2 [Option ID = 13808]
3. 3 [Option ID = 13809
4. 4 [Option ID = 13810]

21) According to Naiyayikas we ascertain the relation of universal concomitance between x

and v :

(A) We can determine the relation only i1f we can determine the relation of essential
1dentity between x and ¥

(B) By perceiving that in all cases the presence of x is accompanied by the presence of ¥

(C) We can determine the relation only if we can determine the relation of cause and
effect between x and ¥

(D) By not perceiving any instance where the presence of x 15 not accompanied by the

presence of ¥ or vice-versa

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A) and (C) only
(D) and (C) only
(B) and (D) only
(A). (B) and (C) only

Femtinl % STER 79 x 3R y § aEdifas ssmira = aeey gihaed 5@ 2

(A)  x AR y * <= sraftgel s S1E Chegwal B TR GRiTE B 9 8 79 W o9 o
oo |

(B)  wefi il °§ x F sulEata B My y F1 0 F EIE B A T B

(C) =A Ty =i adl gETaa B T & 99 7 x 3R y 5 S HE-PR TERY gHived B

D) x F ufcaa % o y H st . y F wh F my x F et = w56 f e W=
9T A HH|

e feu o fameat 4 O wdt s @ =EA it

(1) Q) I (C)

2 %a (D) I (C)

() %= (B) IR (D)

@ = (A), (B) 3 (C)

[Question ID = 3587][Question Description = Q26_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13811]
2. 2 [Option ID = 13812]
3. 3 [Option ID = 13813]
4. 4 [Option ID = 13814)

22) Match List I with List IT :
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List I List I1
(A) Vyapti (I)  The property being inferred
(B) Linga (II) Locus of hetu and Sadhya
(C) Sadhya (III}) Sign or reason
(D) Paksa (IV) Universal concomitance

Choose the correct answer from the options given below :

1 A-D. B)-dI). (O-1D. (D)-AV)
@ @)D, (B)-(II). (C)-T), (D)-AV)
(3 @-AV). (B)-(UD). (O)-D. AN-UAD
@  (A-AID. B)-@). (O-@V). M)-UD

geft-1 % @y g=t-11 1 fiem $ifsm
g1 11

A =i D o FAEE
B) T dD 2g i arer o e
(C) @@= (IT) TeFer STUET 0T
(D) uH (IV) =t gemfa

= & v e 4 o uE 3w W 9 St

(1) (A)-(D. (B)-(III). (C)-dI). (D)-(IV)

@) (A)-dD), (B)-(III), (C)-(I). (D)-IV)

(3) (A)-IV). (B)-(III). (C)«(D). (D)-AD)

4) (A)-dII), (B)-@). (C)-(IV), (D)-IT)

[Question ID = 3588][Question Description = Q27_GP_20M0V_52 SHAAN_Shift2]

bl D —

23)

. 1 [Option ID = 13815]
2 [Option ID = 13816]
3 [Option ID = 13817]
4 [Option ID = 13818]

Given below are two statements :

Statement I : According to Classical Indian Logic the fallacies (hetvabhasa) are not

errvors of inference, but rather hindrances to inference.

Statement II: A fallacy 1s really a “seeming reason or mark” (hetvabhasa), which. if

recognized, would prevent the inferential cognition from arising.

In the light of the above statements, Choose the correct answer from the options given

below :

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement Il are false.

(3) Statement I 1s true but Statement II is false.

prepp
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(4) otatement I 1s talse but Statement Ll 18 true.

=t @1 =y few e 3 .

%97 (D) : AR T TohuITe oh SFEN e AIAE B 39 48t fug =HagH g)
%97 (II) | TEAETY Sgd: ST RO Y Hohd & W PR SAThye gl S At A a9
=t Scafe =1 famor s 21

ITUH HUA * a7 |, A= fBu 1v feedi 8 9wt sw W = Al

Q) = (I) 3R @) 3 w7 3

@) = (I) 3R I 2 w3

3) W (1) weT 2, 9 FyF (ID) o8ed 7
4) = Q) W 2, 9 B (1D ued 3

[Question ID = 3589][Question Description = Q28_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13819]
2. 2 [Option ID = 13820]
3. 3 [Option ID = 13821]
4. 4 [Option ID = 13822]

24) “‘All radically egalitarian societies are societies that do not preserve individual liberties’,

Which of the following statements is true with reference to the above statement?

(1) ‘*No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is logically equivalent.

(2) ‘*No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is not logically equivalent.

(3) ‘*Some radically egalitarian societies are societies that preserve individual liberties’’ is converse of the given statement
and it is logically equivalent.

(4) ‘‘Some radically egalitarian societies are not societies that preserve individual liberties’’ is converse of the given
statement and it is logically equivalent.

“Terd: A THATETE A WU OAS & o dafen e ) w18 e £ sreiffigg vl 09 e
1 FYT IUUF o Ted § wer a v

(1) =pid it yea: aEdrEEl wErS UeT HETS A8 2 S Sefther wEaera o Wi e 2] few e e
1 A7 Ufatda I B I a1 B9 ¥ g9ged 3|

@ % o gua: TAaEE Gu UE @A TR R S Shes saaerar B aida e 21 g T e
<l 71§ Wiaatad oo & 30T qifhe ¥4 9 @Eqed )

(3) T3 YoT: THAER! AT UH GAT 3 S SRe e axierd R 81 R T wem W 9w wRege
a9 2 37 a1 =9 § "AE 2

(9  FT UFG: GNAEE] TN U GO 6 6 S Jafed a1 wiad w2l i e e % g
e ara § ofR @i w9 o wAged B

[Question ID = 3590][Question Description = Q29_GP_20NOV_S$2_SHAAN_Shift2]
1. 1 [Option ID = 13823]
2. 2 [Option ID = 13824]
3. 3 [Option ID = 13825]
4. 4 [Option ID = 13826]

23) Two propositions are contradictories if

(1) One is denial or negation of the other

(2) If they can both be true but cannot both be false

(3) If they have different subject and predicate term and differ from each other in both quality and quantity

(4) If they have the same subject and predicate terms but differ from each other only in quantity but not in quality

3 afagfaEt s £ 32
(1) =, g W g F 2 9 T a2
(2) PR, <] Gcd T Gadl 3 oiehd SiF1 3150 A8l ol dehdll
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(8) 3R 3T 32va IR fag=m ug fu= 2, v o ofit en o s 2
(4) R I Ievd S e gum € ofi 3 ke wen o a e 2 weg o § aftm )

[Question ID = 3591][Question Description = Q30_GP_20M0V_52 SHAAN_Shift2]
. 1 [Option ID = 13827]
2 [Option ID = 13828]
. 3 [Option ID = 13829]
4 [Option 1D = 13830]

P it R

26) What is the binary equivalent of the decimal number 67.625?
(1) 1000010.110 (2) 1000011.110
(3) 1000010.101 (4) 1000011.101

A T 67.625 w1 fganarh auges #0127

(1) 1000010 . 110 (2) 1000011. 110
(3) 1000010 . 101 (4) 1000011.101

[Question ID = 3592][Question Description = Q31_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13831]
2. 2

[Option ID = 13832)
3.3

[Option ID = 13833]
4. 4

[Option ID = 13834]

27) ldentify the correct order of the following different types of computer components ranked from fastest to slowest in
terms of access time.

(A) RAM

(B) Optical Drive

(C) CPU Cache

(D) SSD

Choose the correct answer from the options given below :

(1) (B}, (D), (A), (C) (2) (C), (D), (A), (B)

(3) (A), (B), (C), (D) (4) (C), (A), (D), (B)

Uiy 2IgH Bl S § Tgd g @9d oo o el e, Wk % 3 % e e sl d o wdt w R ugeE
ey

A =

(B)  ifewa g

(C) #idig, #9

(D) ug.ua.dl.

frat fu e foeat 7 @ w1 SR A T i

(1) (B). D). A).(C)
2 (©. D). &.®
3 @A), B). (), D)
@ (©O. @. D). 3

[Question ID = 3593][Question Description = Q32_GP_20NM0V_52 SHAAN_Shift2]
. 1 [Option ID = 13835]
2 [Option ID = 13836]
. 3 [Option ID = 13837]
4 [Option ID = 13838]

P it R

28) Given below are two statements :

Statement | : The abbreviation ‘MOOC’ stands for ‘Massive Open Online Courses’.

Statement Il : The abbreviation ‘SWAYAM' stands for ‘Study Webs of Active-Learning for Young Academic Minds’,
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.
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(3) Statement | is true but Statement |l is false. (4) Statement | is false but Statement Il is true.

e g o fgw w2

w9 () g, 317 3115, T uaee 2 - B o s wew
= (ID) : W, 3o LA LUA. B Hads § - S asH AT Ufdea-afin v T vefiew
LS

IUIRE =RUE =k ek d, Hi= A T fament F ¥ gt s o ==A Fifaw

1)  =F (1) 3 JD 2H wew E

@ = (D) SR AD T S E

(3)  FoF (1) uca &, A w99 (1) o5 3
4w () eEA 2, A wE (1) 53 2

[Question ID = 35924][Question Description = Q33_GP_20M0V_S52 SHAAN_Shift2]
1. 1 [Option ID = 13839]
2. 2 [Option ID = 13840]
3. 3 [Option ID = 13841]
4, 4 [Option ID = 13842]

29) Which of the following statements are related to the role of ICT in citizen services?
(A) Access to public documents

(B} On-line payments

(C) Better medical education across the country

Choose the correct answer from the options given below :

(1) (A), (B) and (C) (2) (A) and (C) only

(3) (B) and (C) only (4) (A) and (B) only

frerfifian § & F-91 3 B T a3 ond A, i e & weatem 37
(&) T GEwEs @ T

(B) - YA

(C) Tl 3 H sE Fafreohi fen

o fam o el 8 @ O 3w @ 99 HifT

1) (A). B R (0)
(2)  F (A) 3 (C)
(3)  Haw (B) 3 (C)

(4) e (A) 3 (B)

[Question ID = 3595][Question Description = Q34_GP_20N0OV_52_SHAAN_Shift2]
. 1 [Option ID = 13843]
2 [Option ID = 13844]
3 [Option ID = 13845]
4 [Option ID = 13846]

-

30) Match List | with List Il :

List I List Il

(Computer Terms) (Description)
(AY HTML (1) Semantic Web

prepp
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(B) Web 2.0 (ll) Use of Internet to make phone calls

(C) Web 3.0 (lll) Language used to create web pages

(D) VOIP  (IV) Collaborative web

Choose the correct answer from the options given below :

(1) (A)}-(I}, (B)-(1¥), (C)-(1), (D)-(11)  (2) (A)-(IN), (B}-(1), (C)-(1V), (D)-(I1}
(3) (A)-(11), (B)-(IV), (C)-{1), (D)-(N1)  (4) (A)-(IV), (B}-(lIl}, (C}-{1), (D)-{IN)

ge=h-1 % @y get-11 = e i

-1 gfi-I1

HurERE UE oo
(4 wado. @ wifew 9w
(B) =% 2.0 (AD) T Fed FH % e etz = gam
(C) 3% 3.0 (IIL) 3% U5 =t sAF % o e & 15 des
(D) .21 o . (IV) FHsEifes 39
e fam T faredt § W wE I w1 T i

(1) A-dID, (B)-AV), (C)-T), (D)-(ID
2  A-AID. ®)-D). (O)-AV)., D)-aADH
@ A-dD. B)-AV). (O)-D), (O)-dID
@  A-av). B-aib. (C)-@), O)-ID

[Question ID = 3596][Question Description = Q35_GP_20NM0V_S52 SHAAN_Shift2]
. 1 [Option ID = 13847]
2 [Option ID = 13848]
3 [Option ID = 13849]
4 [Option 1D = 13850]

bl D —

31) Given below are two statements :

Statement | ;: Noise Pollution has an adverse impact on hearing ability as well as psychological well being of a person.
Statement Il : Human perception of noise levels is linear.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement |l is false, (4) Statement | is false but Statement Il is true.

iR s Ruu g .

FH (D) - ot g W ufage wwE =t i sEm-mte & wmy-wy Tetee-Eees ) s
TS 21

w9 (D) : HHE STEER, -+ & g9y o g 2|

SU YA e |, A9 Ry e Reredl § o v s= = 999 Aifeg

(1)  =m Q) 3ik AD) 3 a9 B

@) e (@) TR (ID) ST 3Taed &

(3) = () TeA B, afea w9 (1) steeE 3

4  F () 79 7, afE % (D) §F B

[Question ID = 3597][Question Description = Q36_GP_20M0V_S52 SHAAN_Shift2]
. 1 [Option ID = 13851]
2 [Option ID = 13852]
3 [Option ID = 13853]
4 [Option ID = 13854]

P bl B —
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32) Which country is in the process of setting up the largest integrated solar-wind energy park of 30 GW capacity?
(1) China (2) India
(3) Australia (4) Saudi Arabia

freforiga & & ®F @1 39 30 i are fi awr T Gva % g9y 3 gR-ag-Sei-sum H e i
ufsFar § wem 27

(1) =\ (2) 9ra
(@) s 4) -

[Question ID = 3598][Question Description = Q37_GP_20N0V_52_SHAAN_Shift2]
1. 1 [Option ID = 13855]
2. 2 [Option ID = 13856]
3. 3 [Option ID = 13857]
4. 4 [Option ID = 13858)

33) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : There has to be an integrated approach to achieve the targets of Sustainable Development Goals (SDGs).
Reason (R) : Many of the SDGs are interconnected.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but {(R) is NOT the correct explanation of {A).

(3) (A) is correct but (R) is not correct.

(4) {(A) is not correct but (R) is correct.

=t 3w fu 7e 2 : oF e (Assertion A) F ¥ # fafw ® 1 790 38% FRW (Reason R) &
wUH :

AEFI (A) wyweiE o wem (7e 31 ) 1 mih 37 wigd W= e 2

F (R) ; 5 .29, stdag B
SRIE T % AT °, e G T faeredl § @ w59 SuEE ST 99 il

1) (&) ¥R R) I T F o (R), (A) F @@ e

@ Q) R (R) A wE E, AR R), (&) 6w e T R
3 (AT E, A (R) T T

@) Q@R SR ®) R

[Question ID = 3599][Question Description = Q38_GP_20M0V_52 SHAAN_Shift2]
1. 1

[Option ID = 13859]
2. 2

[Option ID = 13860]
3.3

[Option ID = 13861]
4. 4

[Option ID = 13862]

34) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R,

Assertion (A) : Mankind’s interaction with Earth has led to a highly complex and diverse ecosystem to an increasingly
degraded environment.

Reason (R) : Many of the changes taking place in Earth’s environment are irreversible.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R} are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true,

Hrt 51 = fog 7m 2 : uF STlieE (Assertion A) F ®9 # forftad ® At g0 3@% FWW (Reason R) %
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STFAA (A) WA ST TR % ST SRt 3T fateremgel wfestas—ad =i ot ot s

TS A § UiEd 1 B 2

FRO (R) : YTl % ATAERY § 21 T 9F® iaa Siaa 2

I Al % s 4, i ST e Trreat 4 @ 9 sat v === i

(1) (A) 3T (R) 3F 7 § 3R (R), (A) F 75 =708 3

2 (A) 3R (R) 1 T E, | (R), (A) 7 =men 11 @
(3)  (A)yTe B, vt (R) o8t sme 2

@ (A vma TE 2, | R) e @

[Question ID = 3600][Question Description = Q39_GP_20NM0V_S52 SHAAN_Shift2]
1. 1

[Option ID = 13863]
2.2

[Option ID = 13864]
3.3

[Option ID = 13865]
4. 4

[Option ID = 13866]

35) What percentage of India’s land is vulnerable to earthquakes?
(1) - 57% (2) - 42%
(3) ~ 37% (4) ~ 28%

i Y et afawa yfit o ey i e §

(1) ~ 57% (2) ~42%

(3) ~ 37% 4 ~28%

[Question ID = 3601][Question Description = Q40_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13867]
2. 2 [Option ID = 13868]
3. 3 [Option ID = 13869]
4. 4 [Option ID = 13870]

36) Which of the following is most effectively promoted by Globalisation among the societies?
(1) Monocultural values (2) Multicultural values
(3) Regionalisation (4) Self centredness

frafafaa @ =i o1 909 290 w9 | TEds w9 ¥ Sy 3y watda R s w Rt

(1)  UHe GRFHaS qea (2) g WEHiaH G
(3) el @) Rl

[Question ID = 3602][Question Description = Q41_GP_20M0V_52 SHAAN_Shift2]
. 1 [Option ID = 13871]
2 [Option ID = 13872]
. 3 [Option ID = 13873]
4 [Option 1D = 13874]

e ld B

37) CBCS stands for
(1) Choice Based Central Schemes (2) Choice Based Credit System
(3) Central Board of Credit Schemes (4) Credit Board of Central Sponsors

i .t wm. = Aaes E -
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(1) a8 5 9 SR (2) TAGE TS WIET 5
(3) HId WIS A Hise T (4) HiEe i AT Fow wWiEE

[Question ID = 3603][Question Description = Q42_GP_20NOV_S2_SHAAN_Shift2]
. 1 [Option ID = 13875]
2 [Option ID = 13876]
3 [Option ID = 13877]
4 [Option ID = 13878]

oW =

38) COVID-19 acronym stands for
(1) Corona Virus Disease 2019
(2) Corona Virus Disease strain 19
(3) Corona Virus Disaster 2019

(4) Corona Virus Disease 2020

FHias—19 =1 HaeT ¢ -

(1) =R g S 317% 2019
(2) R 9@ S A 19
(8) BRI ATEE fEomeE 311 2019

(4) PR I fediw 2% 2020

[Question ID = 3604][Question Description = Q43_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13879]
2. 2

[Option ID = 13880]
B

[Option ID = 13881]
4, 4

[Option ID = 13882]

39) NITI Aayog is
(1) Mational Institution for Transforming India (2) National Institute of Technelogy Integration
(3) National Institute of Technological Innovation (4) National Institute of Transformation and Innovation

Hifd (NITI) 1aP 1 daes & -

() 9Tl S IR g g
(2)  AUeH SRITHE A% AN 3ETE
(3)  TIME TS I TSR ST
(4) e T AT T & TR

[Question ID = 3605][Question Description = Q44_GP_20M0V_S52_ SHAAN_Shift2]
1 [Option ID = 13883]
2 [Option ID = 13884]
3 [Option ID = 13885]
4 [Option ID = 13886]

bl D

40) Match List | with List Il ;

List 1 List I

{Days Celebrated) (When)

(A) Earth Day (1) 24 January

(B) UNO Day (II) 5th June

(C) Environment Day (lll}) 24th October

(D) International Day of Education (IV} 22nd April
Choose the correct answer from the options given below :



[Question ID = 3606][Question Description = Q45_GP_20N0OV_52_SHAAN_Shift2]
. 1 [Option ID = 13887]
. 2 [Option ID = 13888]
3 [Option ID = 13889

1
2
3.
4. 4 [Option ID = 13890]

www.prepp.in

(1) (AY(), (B)-(I), (C)-(N), (D)-(IV)
(3) (A}-(I), (B)-(1V), (C)-(1), (D)-(IN)

-1 % "y gt-11 =1 fiem fife
-1
feera
(A) gei-feam
(B) w3 Uy w9 fogw
(C) wareRw-Tga™
(D) waddi fer g
Fa fam o e § @ O 3w w1 e ST
1) A-D. (B)-AL). (C)-(1I). (D)-(IV)
2)  @-aAV). B)-1ID, (O)-D), (D)-(1L)
(3)  A)-An. B)-IV), (C)-(1). (D)-dID)
(4)  A-AV). B)-1ID). (C)-1D). (D)-@)

(2) (A)-(IV), (B)-(I1}, (C)-(1), (D)-(I1)
(4) (A)-(IV), (B)-(l11}, (C}-(ll}, (D)-(1)

gh-I1
fasfi
D 247
D s

(III) 24 1R
(IV) 22 21a
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